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AE (F/KE®B 1 TK) HPE®150-100-75. PP ¢ 50-30-25-20-13 &4

N \ R
b B ik W R U A B
[&#4] A%
EFE % ¢ 150 1.0 1.0 E
EF% O e ¢ 100 1.0 1.0 %N
675 26.0 26.0 ZN
RITF L AT ¢ 50 3.0 3.0 m
¢ 30 1.0 1.0 m
$25 1.0 1.0 m
613 14.0 14.0 m
FCDHRUL)Fp ¢ 50 1 1 I
PR ¢ 50
U E (MF1E) | JWWA B 132 1 1 HH
Y
RB25 (K) 2 2 1
pEE
RB25 (A) 1 1 J[E
TR
RB25(C) 1 1 &l
JEERR
RB25 (P) 1 1 i
EF11° ~UR ¢ 75 1 1 J[E
PPH90° = /LR ¢ 50 3 3 1A
EFA 5L Fa—H%— ¢150X100 1 1 1
¢ 100X 75 1 1 1
EFY/4vh ¢ 75 2 2 2E]
PVY 4ok $ 30 1 1 i
¢ 25 1 1 1
$20 1 1 1
¢ 13 11 11 &
HPEM
PR ¢ 150X ¢ 50 1 1 {IE
$ 100X ¢ 13 3 3 i
675X 630 1 1 1
675X 625 1 1 (]
675X ¢ 20 1 1 &l
675X ¢13 8 8 &l
PCVaAr b ¢ 150 1 1 18
MEYaA b ¢ 50 2 2 1
¢ 150
HrRT—7 150mm 5.3 +135.6 + 3.0 165.5 | m
~—H—# 17 17 1




E - AAY ko
AREZ (F/KEMBI:1TX) HPE®150-100-75, PP ¢ 50-30-25-20-13 %575
4 PR Hikg W B0 J OF S B s
[57%] N
RN F L EARR T ¢ 150 5.3 5.3 m
¢ 100 5.6 5.6 m
¢ 75 135.6 135.6 m
¢ 50 3.0 3.0 m
¢ 30 1.0 1.0 m
¢ 25 1.0 1.0 m
¢ 13 14.0 14.0 m
LF a—d— TR A wig
Rl T ¢ 150 1.0 + 00 + 0.0 1 u]
[EX: S
¢ 100 1.0 + 1.0 2.0 u]
[EK:=g Viroh UK
¢ 75 260 + 40 + 1.0 31.0 =]
Vv TR PR
PPk T. ¢ 50 0.0 + 6.0 + 1.0 7 m]
ok TR PR
¢ 30 40 + 00 + 1.0 5 u]
Vv TR HRL
¢ 25 20 + 00 + 1.0 3 =]
Vi TR PR
¢ 20 20 + 00 + 1.0 3 5]
ok TR PR
613 22.0 + 0.0 + 11.0 33 m]
RT—7Higk T 165.5 1655 | m
fEIFpaRE T
(B ETe) ¢ 50 1 1 [0
RYTFLE
PRSI AKIEHEAR T ¢ 150 X ¢ 50 1 1 T
RYTFL G
$ 100X ¢ 13 3 3 £
Ry =F LA
G 75X ¢ 30 1 1 £
RYTFL G
H 75X ¢ 25 1 1 T
RYTFL &
& 75X ¢ 20 1 1 T
R)=F LA
GT5X ¢ 13 8 8 £
AN =HVHRE L ¢ 150 1 1 =
PP/
A =T VT L ¢ 150 1 1 0
PP 1]
A =T VT L ¢ 50 2 2 0
T TE T $ 50 2 2 m
HPE®
B T ¢ 75 1 u]
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RE% (F/KEFHB:1TX) PP¢$50-30-25-20-13 &#t

% B ks BERT R O
[&#] IE%
RYTF LT ¢ 50 296.5 + 4.0 300.5 | m
$30 2.5 2.5 m
625 2.5 2.5 m
¢ 20 2.5 2.5 m
613 18.5 18.5 m
PP /LR $ 50 4 4 1
PPV ¢ 50 6 6 1
PV ok ¢ 30 1 1 1
$25 1 1 18
¢ 20 1 1 18
$13 11 11 &l
PPF—X $50%30 1 1 18
PPY-R V45 ke ¢ 50X 25 1 1 1#
¢ 50X 20 1 1 1#
$50X13 11 11 1
DIPH]
PR AKAE ¢ 150X ¢ 50 2 2 1
PRI ¢ 50 296.5 296.5 | m
DIPFv v~ 675 2 2 &l
YRR S vy ¢ 50 2.0 2 &
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RE% (T/KEFEBI:1TX) PP¢$50-30-25-2013 575

W ‘ T o
£ Hirk b B R O S ¥og | Wz
[5%5] 1%
AVZF LB T ¢ 50 300.5 3005 | m
¢ 30 2.5 2.5 m
¢ 25 2.5 2.5 m
¢ 20 2.5 2.5 m
¢ 13 18.5 18.5 m
ok F—x LR g
PPk 1. ¢ 50 160 + 20 + 80 + 2.0 28 m
ok F— TR A
¢ 30 20 + 1.0 + 00 + 0.0 3 [
Vv F— LR A
¢ 25 20 + 0.0 + 00 + 1.0 3 O
Vroh F—R LR PR
¢ 20 20 + 0.0 + 00 + 1.0 3 =
ok F—= TR A
¢ 13 220 + 00 + 00 + 11.0 33 =
PRSI ARIEEGA T ¢ 150X ¢ 50 2 2 &pT
RYTFL G
50X 25 2 2 T
RYTFL &
50X 20 2 2 £
RyTFL &
¢ 50X 13 2 2 £
DIP%
Bl T ¢ 150 2 2 n
R F LU EHET ¢ 50 300.5 300.5 | m
¢ 30 2.5 2.5 m
¢ 25 2.5 2.5 m
¢ 20 2.5 2.5 m
¢ 13 18.5 18.5 m
SEf Y
BRI PP ¢ 50 300.5 X 1.216 = 365.41 365.4 | kg
e Y
PP ¢ 30 2.5 X 0.595 = 1.49 1.5 kg
e E
PP ¢ 25 2.5 X 0.423 = 1.06 1.1 kg
S E
PP ¢ 20 2.5 X 0.269 = 0.67 0.7 kg
SEf Y
PP ¢ 13 18.,5 X 0.184 = 3.40 3.4 kg
A5 3720 kg
PP /LR %k i
AT ¢ 50 4 X 3.170 = 12.68 12.7 kg
PVY /o %k )
¢ 30 1 X 1.270 = 1.27 1.3 kg
PV /o h %% i
¢ 25 1 X 0.700 = 0.70 0.7 kg
PVY /o %% L,
¢ 20 1 X 0545 = 0.55 0.5 kg
PVY /o %% )
¢ 13 11 X 0.375 = 4.13 4.1 kg
PPF—X % E
¢ 50X 30 1 X 4.020 = 4.02 4.0 kg
a5t | 233 kg
PPHFR /L4y kR fE%% e
GRAIF T 50X 25 1 X 2400 = 2.40 2.4 kg
PPHFR /L4y kR %% s
¢ 50X 20 1 X 2.000 = 2.00 2.0 kg
PPHFR /L4y kAR % T
$50X13 11 X 1.700 = 18.70 18.7 kg
48k | 23.1 kg
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AR (F/KE®B 2T X) PPp50 &4t

& B ke e I R Of B K BoE | w

[&#4] A%
R Z=F LT ¢ 50 2.0 2.0 m

HPEM
HR4 KR ¢ 75X ¢ 50 1 1 1
¢ 50

HRT—7 150mm 2.0 2.0 m
~——#t 1 1 1
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R > . h
AREF(T/KEHB:2TK) PP)50 F7%
& T e el B
[57%] A
RV ZF L EARFE T ¢ 50 2.0 2.0 m
Vi TR HRL
PPt T ¢ 50 0.0 + 00 + 1.0 1 m]
RT—7Higk T 2.0 2.0 m
R)=F LA
PR AKEEGAR T ¢ 75X ¢ 50 1 1 {50
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RE% (F/KEMEB: 2T R) PPp25 B#t

b B Wit BERT R R
[%41] ik
RIZF LT ¢ 25 2.0 0.0 2.0 m
PRy ¢ 50%25 1.0 1.0 1
PRI $25 2.0 2.0 m
PRy KIEF vy ¢ 25 1.0 1.0 &
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RER (F/AKEHBI:2TR) PPp25 7%

N ‘ o = ,
4 PR Hirg W I R O B K B B
[57%] 1%
RYZF L AR T ¢ 25 2.0 2.0 m
Vi F—x TR A i
PPt T ¢ 25 0.0 + 0.0 + 0.0 + 1.0 1 O
R F LU E R ET ¢ 25 2.0 2.0 m
R)TFLE
FRAGKRRIAAZ T ¢ 50X25 1 1.0 | f&fr
EE R
BETT% PP ¢ 25 2.0 X 0.423 = 0.85 0.8 kg
&8 08 kg
PPF—X Tk HE
WA Z 7 $50%25 I X 3.740 = 3.74 3.7 kg

&t 3.7 kg
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ARE&(TF/KEHBN:5TX) PPp50 &t

& B ke e I R Of B K BoE | w

[&#4] A%
R Z=F LT ¢ 50 2.0 2.0 m

HPEM
HR4 KR ¢ 75X ¢ 50 1 1 1
¢ 50

HRT—7 150mm 2.0 2.0 m
~——#t 1 1 1
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R > . h
AREF (TF/KEHBI5TK) PPP50 F75
& T e el B
[57%] A
RV ZF L EARFE T ¢ 50 2.0 2.0 m
Vi TR HRL
PPt T ¢ 50 0.0 + 00 + 1.0 1 m]
RT—7Higk T 2.0 2.0 m
R)=F LA

PR AKEEGAR T ¢ 75X ¢ 50 1 1 {50
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% (F/KEMEB:5TR) PPp25 &

b B Wit BERT R R
[%41] ik
RIZF LT ¢ 25 2.0 0.0 2.0 m
PRy ¢ 75%25 1.0 1.0 1
PRI $25 2.0 2.0 m
PRSI v T 625 1.0 1.0 | A
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RER (F/KEHBI:5TR) PPp25 7%

4 PR b5ikig W I R O B K B B
[5%5] 1%
RYZF L AR T ¢ 25 2.0 2.0 m
ok F—R LR PR
PPt T ¢ 25 0.0 + 0.0 + 0.0 + 1.0 1 O
R F LU E R ET ¢ 25 2.0 2.0 m
FER R
BT PP ¢ 25 2.0 X 0.423 = 0.85 0.8 kg
a5t 0.8 kg
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A% (F/KEFMHB: 6 TX) PP¢$50-25-13 &E#f

b T ik W R U A B
[&#4] A%
RYZF Lo AT ¢ 50 59.0 59.0 m
$25 2.0 2.0 m
$13 3.5 3.5 m
V7R — LIS ¢ 50 1 1 i
FCD#dft- 807 ¢ 50 1 1 Ik
g ¢ 50
U E (MF1E) | JWWA B 132 2 2 HH
YT
RB25 (K) 4 4 J[E
REE
RB25 (A) 2 2 &l
TR
RB25(C) 2 2 IE]
JEERR
RB25 (P) 2 2 L
PPV /b ¢ 50 3 3 J(E
PVY 4ok $25 1 1 e
613 4 4 1
PP /LR ¢ 50 5 5 J[E
PRSIk & 50X ¢ 25 1 1 {IE
$»50X ¢ 13 4 4 {I&
VISR AN ¢ 50 4 4 J[E
MCz=A> ¢ 50 1 1 1&
¢ 50 $25 ¢ 13
HrRT—7 150mm 59.0 + 2.0 + 35 64.5 m
~—H—H 8 8 1
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AL (TF/KEFMBI:6TX) PP$50-25-13 Hi%

& B

[ e O 5K

b5ikig B & W
[5%5] A
AVZF LB T ¢ 50 59.0 59.0 m
$25 2.0 2.0 m
¢ 13 3.5 3.5 m
PR E T
(R ETe) ¢ 50 2 2 [0
ok F—=x TR A wig
PPk T. ¢ 50 6.0 + 00 + 10.0 + 0.0 16 u]
ok F—= TR A wig
¢ 25 20 + 00 + 00 + 1.0 3 u]
ok F—= TR A g
¢ 13 80 + 0.0 + 00 + 4.0 12 m]
ART—7 gk T 64.5 64.5 m
PPEH
A =T VT L ¢ 50 4 4 O
TR L ¢ 50 4 4 O
AN =TV HET
LT ¢ 50 1 1 A
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% (F/KEFEBI: 6 TX) PP¢25-13 &t

W B K O 5 A

E s Btk O |
(5411 5
RYZF LT 625 56.5 + 2.5 59.0 | m
613 0.0 + 45 4.5 m
PP /LR $25 3 3 &
PPy $25X13 1 1 1
PV $25 1 1 1
613 4 4 18
PPF—X $25 1 1 1
$25X13 3 3 18
YRI5y kR $ 50X 25 1 1 &5
PPF¥v~7 ¢ 50 1 1 1A
PR KEx vy T ¢ 25 1 1 1
PRI $25 56.5 56.5 | m
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RE% (F/KEMB:6TX) PPp25-13 7%

W ‘ T o
4 H st i B e O OB
[57%] 1%
RN F L EARR T ¢ 25 59.0 59.0 m
¢ 13 4.5 4.5 m
ok F—R TR A i
PPitF T $25 30 + 90 + 3.0 + 1.0 16 m
ok F—R TR A
¢ 13 90 + 3.0 + 0.0 + 0.0 12 ]
R F LB ET ¢ 25 59.0 59.0 m
¢ 13 4.5 4.5 m
R R
ek -4 PP ¢ 25 59.0 X 0.423 = 24.96 25.0 kg
SR R
PP ¢ 13 45 X 0.184 = 0.83 0.8 kg
a5t 25.8 kg
PP LR s )
HpRIF T $25 3 X 0.720 = 2.16 2.2 kg
PPY vk %% B,
$25%X13 1 X 0570 = 0.57 0.6 kg
PVY /o %% )
¢ 25 1 X 0.700 = 0.70 0.7 kg
PVY /o %% )
¢ 13 4 % 0.375 = 1.50 1.5 kg
PPF—X fE%% o
¢ 25 1  x 1.180 = 1.18 1.2 kg
PPF—X fE%% R
625X 13 3 X 0.970 = 291 2.9 kg

&t 9.0 kg
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A% (F/KEFHBN:8TX) PP¢$50-20-13 &E#f

& B ke e I R Of B K BoE | w
[&#4] AG%
RYF Lo AT ¢ 50 94.0 94.0 m
$20 2.0 2.0 m
613 2.0 2.0 m
V7R — LIS ¢ 50 1 1 i
g ¢ 50
U E (MF1E) | JWWA B 132 1 1 HH
YT
RB25 (K) 2 2 1
EEE
RB25 (A) 1 1 &l
TR
RB25(C) 1 1 &
JEERR
RB25 (P) 1 1 HH
PP/ vh ¢ 50 3 3 J[E
$ 20 1 1 |
PVY Aok ¢ 50 1 1 i
¢ 20 1 1 (]
613 2 2 &l
DIP
BRAL7KAE ® 150X ¢ 50 1 1 &
YRV SRR $ 50X ¢ 20 2 2 eS|
¢ 50X ¢ 13 2 2 &
MEYaA b ¢ 50 2 2 J[E5
¢ 50 ¢ 20 613
HRT—7 150mm 94.0 + 20 + 2.0 98.0 m
~——# 6 6 1
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= ] . «90) - 4
A% (TF/KEHHBN:8ITX) PP$50-20-13 7%
e 1
& B T el B OR | w
[57%] A%
RYTF LB A% T ¢ 50 94.0 94.0 m
¢ 20 2.0 2.0 m
$13 2.0 2.0 m
oA L
(R ETe) ¢ 50 1 1 EAT
ok F—=x TR A wig
PPk T. ¢ 50 80 + 0.0 + 00 + 1.0 9 m]
ok F—= TR A wig
$ 20 4.0 + 00 + 0.0 + 2.0 6 ]
ok F—= TR A g
$13 40 + 00 + 00 + 2.0 6 ]
DIP
PRI KAEEIAL T ¢ 150X ¢ 50 1 1 T
R)=F LA
$50%20 2 9 %0
RyTFL &
$50X13 2 9 %0
HRT—F A% L 98.0 98.0 m
PP%
AR =T )VHRFE T ¢ 50 2 2 m
TR L ¢ 50 2 2 m
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1=

FH(T/KEHBI:8TX) PP¢25-20-13 &t

W B K O 5 A

E s Btk O |
(5411 5

RYzF Lo A7 625 92.0 + 4.0 96.0 | m
620 0.0 + 2.0 2.0 m

613 0.0 + 2.0 2.0 m

PP /LR $25 5 5 &
PPY vk $20 1 1 1
PV ¢ 20 1 1 1
613 2 2 18

PPF—X $ 25X 20 2 2 1#

¢ 25%X13 2 2 1#

DIP

PR3 ARAR ¢ 150X 25 1 1 1
PAVIZAVIN S $50%25 1 1 &
VAN S A ¢ 25 2 2 1&
PRI $25 92.0 92.0 | m
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RE% (T/KEF#EBN:8TX) PP¢25-20-13 7%

[0} ‘ T o
b B e ko tay o
[5%5] 1%
RN F L EARR T ¢ 25 96.0 96.0 m
¢ 20 2.0 2.0 m
¢ 13 2.0 2.0 m
Vv F—R TR A
PPitF T $25 0.0 80 + 10.0 + 20 20 m]
Vi F— LR A
¢ 20 4.0 20 + 00 + 0.0 6 ]
ok F—R TR PR
¢ 13 4.0 20 + 0.0 + 0.0 6 m]
RV F LB E T ¢ 25 96.0 96.0 m
¢ 20 2.0 2.0 m
¢ 13 2.0 2.0 m
SEf Y
BT PP ¢ 25 96.0 0.423 = 40.61 40.6 kg
ST Y
PP ¢ 20 2.0 0.269 = 0.54 0.5 kg
ST Y
PP ¢ 13 2.0 0.184 = 0.37 0.4 kg
&Rt | 415 kg
PPx /LR %% i
AT ¢ 25 5 0.720 = 3.60 3.6 kg
PPY vk %% B,
¢ 20 1 0.500 = 0.50 0.5 kg
PVY /o %% )
¢ 20 1 0.545 = 0.55 0.5 kg
PVY ok %k )
¢ 13 2 0.375 = 0.75 0.8 kg
PPF—X % T
¢ 25X20 2 1.040 = 2.08 2.1 kg
PPF—X % e
¢ 25X13 2 0.970 = 1.94 1.9 kg
&t 9.4 kg
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HAKARE

b R e W R U A BoE | w
[&#1]
PEf&L M4+
PRk 75X ¢ 75 1 1 &
R RVE kAR A
THEAMESH=1501F ¢ 75X ¢ 65 1 1 18
TIsEE DCIP
RF-GF ¢ 75X H150 1 1 5
E s
WAk R Y7 A () | H=200mm 1 1 Hi
FLE IS
450 X 350-50 2 9 e
mEE
450 X350 H=200mm 1 1 ﬂﬁ]
ERE
450X350 H=100m 1 1 1
JEEAR
680200 H=40mm 1 1 i
[5%]
AR T
(CRHNREHESHE
77y R E) 1 1|t
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+ T F B %
PP ¢ 504 L. (F/KEAE) : 2 TIX) &5 A XD = 090 m
PP ¢ 50 A (W) FIJE(C)
EHME(D2) 0.060 HE g (W) 0.55 + = 0.55 m
HRHIE (W) B (H1) AR iy
RH 8= 0.55 % ( 0.86 + 0.060 + 0.1)=  0.56 m
HHIE (W) R (HD) MR
R = 0.55 X ( 0.87 - 0.3 - 0.16)=  0.23 m
I (W) PRI (1) BT A
WO = 0.55 X  0.460 - 0.0028 = 0.25 m
RS
T A E = 0.56 m
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 e 0.55
2 |[PP¢20 27.0 0.55
3 [PP¢ 25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP ¢ 50 60.0 0.55
7 [HPE¢ 75 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 |DGX 6125 143.0 0.55 N
10 |HPE ¢ 150 180.0 0.55
11 |DGX ¢ 200 220.0 0.60
12 |DGX ¢ 250 271.6 0.60 =
13 |DGX ¢ 300 322.8 0.70 <
14 |DGX ¢ 350 374.0 0.70 < a
15 |DGX ¢ 400 425.6 1.05 _0f
16 |DNS ¢ 450 476.8 1.10

95




gl'o = w 06¢l X W 00 X w/3 €200

210 AN w T Loy - ARG
WG FE S G AYFYS EE¥
0G°G¢ 9¢ w 06T + OI'T + 0S7%2¢ wog=1 *(¢1) SV H Tl T8¢
0g°ce 9¢ w 06T + OI'T + 0S72¢ wogT =1 ‘OF-D¥ T
g
vl i w 800 + F0'0 + 0%T SY w&ﬂﬁ%
vl i w 800 + F00 + 0FT SV Y B3
02°G¢ g w ov'T + 080 + 00¢€¢ LT
07°G¢ Gg w ov'T + 080 + 00¢€¢ TH@ WECT %%
01°91 91 w 080 + 0S50 + O087¥I Gl T3 Qi
80'%T il w 060 + 8I'0 + 09€I o —ON TN @
02°S¢ Ge w oF'T + 080 + 00¢€¢ T Haqu T [iE G
0G°G¢ 9¢ i} 06T + 0I'T + 0872¢ A YAWO0T =1 SV | T30 Y3
00°621 621 w 00, + 00F% + 00°SIT J YAWogT =13 ‘sy LI G 35
c1 o Gz P 059
dd dd dd

OB R |k HEERT T B (KT @HEN ] ) M CEdY oo oA | WY




8C LS 6’0 X 006G wog=1 ‘(1) SV F TRy TE(2F
8¢ 1 G660 X 00°G wo9T=1 ‘07-0Y TE
11°0 w sV AL T
11°0 w 700 X 087 sV e 0 T 34
ce Iy 02°¢ i
e m €9°0 X 00°G G M 3%
ST w 620 X 00°G il T3 e
g1 w €20 X 006 0F-0u T @R
ze w €9°0 X 00°G FEH L1
8¢ 1 660 X 00°G L quWoT =1 SV [T O
0°0T w 00z X 006G J yquoQr =13 sy TGRS
N | SALER (R (@BEDE ) TY051 ¢ 4dH R B
(Y wo =VEHY;
L XF g W o00c =T 0ST ¢ ddH

97




8¢ w GG'0 X 00°S wog=1 ‘(1) SVAIH T, T &2
87 i 660 X 00°¢G wo9T=1 ‘0F-0 0
11°0 I sV AV AT
11°0 oy 00 X 087 sV HE B3
0°€¢ oy 00°€ RS
0°¢ u 090 X 006 T H M 3
il u 820 X 00°¢ l TN Rl
T iy €20 X 00°¢ 07-0u T4 Rl
0°¢ w 09°0 X 00°S FE L1
87 o0 6&'0 X 00°¢G A FWoQT=1 SV | T F xR
001 007 X 00°¢G A awoQ1 =3 ‘sv TiHaaR4y
W HAEER (KT (BN ) TIEY00T ¢ ddH O M oA | W %
= V[ F P ) wo =VE
&% T - R w060 =HXE w00 =THE 00T ¢ AdH

98




L'EL wm GG'0 X 00F%€1 wog=1 (1) SV H T T &R
L€l o 660 X 00FET wogT =1 ‘0F-0 TR
86°¢ M SV LM X4
G6°C it 700 X 0L€L Y HE Y T
LLL it 0L°LL T
LLL it 860 X 007¥eT FHEM WHECT 3
8ve it 920 X 007¥eT 1 T3 @
8°0¢ it €20 X 007eT 07-0Y T34 @i
LLL it 860 X 007FeT T HM (15
L€l m 660 X 007VEl L YqwoQT=1 SV | TR
0892 w 002 X 007€l J yquoQr =13 sy TGRS
o ¥ O% |k EHEER (XTI (@8EN ) T¥EwGL ¢ ddH S
91 = VE(FH € =1EEFEEY) wo =VEH
L RSP 2= Vo = AR - AR w060 =HX&E W 00pel =T gL ¢ ddH

99



L1 W GG'0 X 00°¢ wog =1 (€1) SV I TE(¥
LT IS 660 X 00°€ wo9T =1 ‘0y-0Y TR
L0°0 w sV ALY
L0°0 w ¥0°0 X 0L sV HE 3
L1 Iy 0L'T i
LT w 960 X 00°¢ FE @ M 3%
80 w Gz’'0 X 00°€ il T3 R
L0 w €20 X 00°€ 07-0u T @i
LT o 9570 X 00°¢ FEM LN
IR o0 6a'0 X 00°€ A FWoQT=1 SV | T F xR
09 002 X 00°€ A quogr=1 sy TGRS
u HALER (KT T (R AOK ) THY05 ¢ dd e N |
=& Fy wo =VE
X% w00 =TI 0S ¢ dd

100




90 jos! GG'0 X 00T wog =1 ‘(1) SV R Tok o at T &(E
9°0 w GG0 X 001 wog9T =1 ‘0F-0u TEA
20°0 w SY LN
20°0 w 7070 X 09°0 sY T B 34
70 w 0v°0 T
70 w 0 X 00T T H M 3
20 w v2°0 X 001 Gt T3 @
10 w 60°0 X 001 =) T3 @
70 w 170 X 001 T2 R
9°0 o0 6&'0 X 00T A FWoQT=1 SV | T F xR
0% 002 X 001 4 yquwoQr=13 sy TIfG3RES
# B SEE (KT (8 E ] ) T3EN0¢ ¢ dd A A
=& Eh o =1EM>G
{0 w001 =TT 0€ ¢ dd

101




90 jos! GG'0 X 00T wog =1 ‘(1) SV R Tok o at T &(E
9°0 w GG0 X 001 wog9T =1 ‘0F-0u TEA
20°0 w SY LN
20°0 w 7070 X 09°0 sY T B 34
70 w 0v°0 T
70 w 0 X 00T T H M 3
20 w v2°0 X 001 Gt T3 @
10 w 60°0 X 001 =) T3 @
70 w 170 X 001 T2 R
9°0 o0 6&'0 X 00T A FWoQT=1 SV | T F xR
0% 002 X 001 4 yquwoQr=13 sy TIfG3RES
# BSEE (KT (8 E ] ) T3z ¢ dd A A
=& Eh o =1EM>G
{0 w001 =TT ¢z ¢ dd

102




Ll 1 GG'0 X 00T wog=1 (£1) SV AT B+ TE>
Ll IS G660 X 00T wo9T=1 ‘0F-0 T EH
1€°0 w sV ALY
1€°0 w 00 X 0.2 sV HE 3
9g w 09°G RS
9°c w 07’0 X 00T T H M 3
ge w €20 X 00T il T3 R
€1 Iy 60°0 X 00T 07-0u T @i
9°G w 070 X 00°F1 FE L1
) o0 G&'0 X 001 A FWoQT=1 SV | T F xR
0°8% 002 X 0071 A yqwogr =1 ‘sv TGRS
u HALER (KT R AOY ) THye1 ¢dd e N |
=& Fy wo =V
(0¥ W 00pT =TT €1 ¢ dd

103




+ T F B %
HPE ¢ 150482 T. (F/KEMB): 1 TR FEaHE X = 090 m
HPE ¢ 150 IR (W) RHRE (C)
EHME(D2) 0.180 HE g (W) 0.55 + = 0.55 m
HRHIE (W) B (H1) AR iy
RH 8= 0.55 % ( 0.86 + 0.180 + 0.1)=  0.63 m
HHIE (W) R (H1) MR
R = 0.55 X ( 0.87 - 0.3 - 0.16)=  0.23 m
PEHIIE (W) WHLEE (h1) TR
WO = 0.55 X 0580 - 0.0254 = 0.29 m
RS
T A E = 0.63 m
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 10 EHME 180
1 |[PP$13 21.5 0.55 W: |10 e 0.55
2 [PP¢20 27.0 0.55
3 |PP$25 34.0 0.55
4 [PP¢ 30 42.0 0.55
5 |PP 40 48.0 0.55
6_|[PP ¢ 50 60.0 0.55
7 |HPE¢ 75 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 |DGX 6125 143.0 0.55 N
10 |HPE ¢ 150 180.0 0.55
11 |DGX ¢ 200 220.0 0.60
12 |DGX ¢ 250 271.6 0.60 =
13 |DGX ¢ 300 322.8 0.70 <
14 |DGX ¢ 350 374.0 0.70 < a
15 |DGX ¢ 400 425.6 1.05 _0f
16 |DNS ¢ 450 476.8 1.10
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+ T

B B =

HPE ¢ 100AK5% T. (FAGEAFE) : 1 T.IX) $x a5

BRXMH)= 090 m

HPE ¢ 100 IR (W) RKIRIE (C)
EHME(D2) 0.125 HE g (W) 0.55 + = 0.55 m
HRHIE (W) R (H1) AR iy
RH 8= 0.55 % ( 0.86 + 0.125 + 0.1)=  0.60 m
HHIE (W) R (HD) MR
R = 0.55 X ( 0.87 - 0.3 - 0.16)=  0.23 m
PEHIIE (W) TOHERIE (h1) TR
WO = 0.55 X 0525 - 0.0123 = 0.28 m
RS
A L= 0.60 ni
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B S 1 g D2:| 8 EHME 125
1 |[PP$13 21.5 0.55 W:| 8 H 1 e 0.55
2 |[PP¢20 27.0 0.55
3 [PP¢ 25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |[PP¢50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55 o
8 |HPE ¢ 100 125.0 0.55 S -
9 [DGX¢125 143.0 0.55
10 |HPE ¢ 150 180.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 _ | o<
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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106

+ T F B %
HPE ¢ 75A8% T (FAGEMB): 1 LX) BmEH % xaD= 090 m
HPE ¢ 75 IR (W) RKIRIE (C)
EHME(D2) 0.090 HE g (W) 0.55 + 0.55 m
HRHIE (W) R (H1) AR iy
RH 8= 0.55 % ( 0.86 + 0.090 + 0.1)=  0.58
HHIE (W) R (HD) MR
R = 0.55 X ( 0.87 - 0.3 - 0.16)=  0.23
PEHIIE (W) TOHERIE (h1) TR
WO = 0.55 X  0.490 - 0.0064 = 0.26 m
RS
A L= 0.58 ni
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O EHME I D2:| 7 =Zas 90
1 |[PP$13 21.5 0.55 W:| 7 H 1 e 0.55
2 |[PP¢20 27.0 0.55
3 [PP¢ 25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP¢50 60.0 0.55
-HPE 675 90.0 0.55
8 [DGX ¢ 100 118.0 0.55
9 [DGX¢125 143.0 0.55 N
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 T
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 ] o=
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10




+t T & &
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PP ¢ 504 L. (F/KEAE) : 1 LX) &G XD = 090 m
PP ¢ 50 HE I (W) FMJE(C)
EHME(D2) 0.060 HE g (W) 0.55 + = 0.55 m
15 (W) B (HD) AR i
RH 8= 0.55 % ( 0.86 + 0.060 + 0.1)=  0.56
1 5 (W) R (HD) BHEER) R
R = 0.55 X ( 0.87 - 0.3 - 0.16)=  0.23
1 5 (W) RO (h1) R
WM = 0.55 X  0.460 - 0.0028 = 0.25 m
PR
A = 0.56 m
XA R (H1) (3, Sl 52 H| Bk S
D2: EAME— 3K (nm)
X5 H O B I D2:| 6 EHME 60
1 |[PP$13 21.5 0.55 W:| 6 H 1 e 0.55
2 |[PP¢20 27.0 0.55
3 [PP¢ 25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
o lepaso [ w00 | os |
7 [HPE¢ 75 90.0 0.55
8 [DGX ¢ 100 118.0 0.55
OO _
9 [DGX¢125 143.0 0.55
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 T
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 ] o=
14 |DGX ¢ 350 374.0 0.70 - 3
15 |DGX ¢ 400 425.6 1.05 01
16 |DNS ¢ 450 476.8 1.10 B B
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+ T F B %
PP ¢ 3045 L. (F/KEAS : L LX) B@&EHHE |8 X0ED= 065 m
PP ¢ 30 HE I (W) FMJE(C)
EHME(D2) 0.042 HE g (W) 0.55 + 0.55 m
HRHIE (W) B (H1) AR iy
RH 8= 0.55 % ( 0.61 0.042 + 0.1)=  0.41
HHIE (W) R (HD) MR
R = 0.55 X ( 0.62 0.3 - 0.16)=  0.09
PEHIIE (W) TOHERIE (h1) TR
WO = 0.55 X  0.442 0.0014 = 024 m
RS
R E R = 0.41 nf
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 4 EHME 42
1 |[PP$13 21.5 0.55 W:| 4 H 1 e 0.55
2 |[PP¢20 27.0 0.55
3 [PP¢ 25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |[PP¢50 60.0 0.55
7 [HPE¢ 75 90.0 0.55
8 [DGX ¢ 100 118.0 0.55
9 [DGX¢125 143.0 0.55 N
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 T
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 ] o=
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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+ T F B %
PP ¢ 2545% 1. (F/KEAB) : 1 LX) B&EHHE |8 X0D= 0656 m
PP ¢ 25 HE I (W) FMJE(C)
EHME(D2) 0.034 HE g (W) 0.55 + 0.55 m
HRHIE (W) B (H1) AR iy
RH 8= 0.55 % ( 0.61 0.034 + 0.1)= 0.41
HHIE (W) R (HD) MR
R = 0.55 X ( 0.62 0.3 - 0.16)=  0.09
PEHIIE (W) TOHERIE (h1) TR
WO = 0.55 X  0.434 0.0009 = 0.24 m
RS
R E R = 0.41 nf
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 3 EHME 34
1 |[PP$13 21.5 0.55 W:| 3 H 1 e 0.55
2 |[PP¢20 27.0 0.55
3 |[PP¢25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |[PP¢50 60.0 0.55
7 [HPE¢ 75 90.0 0.55
8 [DGX ¢ 100 118.0 0.55
9 [DGX¢125 143.0 0.55 N
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 T
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 ] o=
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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+ T F B %
PP ¢ 134 L. (F/KEAE) : L LX) &G |8 RX0D= 065 m
PP ¢ 13 HE I (W) FMJE(C)
EHME(D2) 0.022 HE g (W) 0.55 + = 0.55 m
HRHIE (W) B (H1) AR iy
RH 8= 0.55 % ( 0.61 + 0.022 + 0.1)=  0.40 m
HHIE (W) R (HD) MR
R = 0.55 X ( 0.62 - 0.3 - 0.16)=  0.09 m
PEHIIE (W) TOHERIE (h1) TR
WO = 0.55 X 0422 - 0.0004 = 0.23 m
RS
R E R = 0.40 nf
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y e B I D2:| 1 EHME 21.5
1 |[PP$13 21.5 0.55 W:| 1 H 1 e 0.55
2 |[PP¢20 27.0 0.55
3 [PP¢ 25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |[PP¢50 60.0 0.55
7 [HPE¢ 75 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 [DGX¢125 143.0 0.55 N
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 T
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 ] o=
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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+ T F B %
PP ¢ 504 L. (F/KEAE) : 6 LX) B &EHHE XD = 090 m
PP ¢ 50 A (W) FIJE(C)
EHME(D2) 0.060 HE g (W) 0.55 + = 0.55 m
HRHIE (W) B (H1) AR iy
RH 8= 0.55 % ( 0.86 + 0.060 + 0.1)=  0.56 m
HHIE (W) R (HD) MR
R = 0.55 X ( 0.87 - 0.3 - 0.16)=  0.23 m
I (W) PRI (1) BT A
WO = 0.55 X  0.460 - 0.0028 = 0.25 m
RS
T A E = 0.56 m
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 e 0.55
2 |[PP¢20 27.0 0.55
3 [PP¢ 25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP ¢ 50 60.0 0.55
7 [HPE¢ 75 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 |DGX 6125 143.0 0.55 N
10 |HPE ¢ 150 180.0 0.55
11 |DGX ¢ 200 220.0 0.60
12 |DGX ¢ 250 271.6 0.60 =
13 |DGX ¢ 300 322.8 0.70 <
14 |DGX ¢ 350 374.0 0.70 < a
15 |DGX ¢ 400 425.6 1.05 _0f
16 |DNS ¢ 450 476.8 1.10
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+ T F B %
PP ¢ 2545% 1. (F/KEAB) : 6 LX) B @&EHHE | X0D= 065 m
PP ¢ 25 HE I (W) FMJE(C)
EHME(D2) 0.034 HE g (W) 0.55 + 0.55 m
HRHIE (W) B (H1) AR iy
RH 8= 0.55 % ( 0.61 + 0.034 + 0.1)= 041
HHIE (W) R (HD) MR
R = 0.55 X ( 0.62 - 0.3 - 0.16)=  0.09
PEHIIE (W) TOHERIE (h1) TR
g2y 0.55 X  0.434 - 0.0009 = 0.24 m
RS
R E R = 0.41 nf
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 3 EHME 34
1 |[PP$13 21.5 0.55 W:| 3 H 1 e 0.55
2 |[PP¢20 27.0 0.55
3 |[PP¢25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |[PP¢50 60.0 0.55
7 [HPE¢ 75 90.0 0.55
8 [HPE ¢ 100 125.0 0.55
A, S -
9 [DGX¢125 143.0 0.55
10 |HPE ¢ 150 180.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 _ | o<
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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+ T F B %
PP ¢ 134G L. (F/KEAD) : 6 LX) B &EHHE | X0ED= 065 m
PP ¢ 13 HE I (W) FMJE(C)
EHME(D2) 0.022 HE g (W) 0.55 + = 0.55 m
PEHIIE (W) BR(HD) EHME Le
RH 8= 0.55 % ( 0.61 + 0.022 + 0.1)=  0.40 m
PEHIIE (W) BR(HD) WHREM)
R = 0.55 X ( 0.62 - 0.3 - 0.16)=  0.09 m
PEHIIE (W) TOHERIE (h1) TR
WO = 0.55 X 0422 - 0.0004 = 0.23 m
PR
A L= 0.40 nd
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y e B H 1 g D2:| 1 EHME 21.5
1 |[PP$13 21.5 0.55 W:| 1 H 1 e 0.55
2 |[PP¢20 27.0 0.55
3 |PP$25 34.0 0.55
4 [PP¢ 30 42.0 0.55
5 [PP¢40 48.0 0.55
6 [PP¢50 60.0 0.55
7 |HPE¢ 75 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 [DGX¢125 143.0 0.55 N
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 T
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 ] o=
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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+ T F B %
PP ¢ 504 L. (F/KEAE) 8 LX) ¥ &EHA | X0D= 090 m
PP ¢ 50 A (W) FIJE(C)
EHME(D2) 0.060 HE g (W) 0.55 + = 0.55 m
HRHIE (W) B (H1) AR iy
RH 8= 0.55 % ( 0.86 + 0.060 + 0.1)=  0.56 m
HHIE (W) R (HD) MR
R = 0.55 X ( 0.87 - 0.3 - 0.16)=  0.23 m
I (W) PRI (1) BT A
WO = 0.55 X  0.460 - 0.0028 = 0.25 m
RS
T A E = 0.56 m
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 e 0.55
2 |[PP¢20 27.0 0.55
3 [PP¢ 25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP ¢ 50 60.0 0.55
7 [HPE¢ 75 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 |DGX 6125 143.0 0.55 N
10 |HPE ¢ 150 180.0 0.55
11 |DGX ¢ 200 220.0 0.60
12 |DGX ¢ 250 271.6 0.60 =
13 |DGX ¢ 300 322.8 0.70 <
14 |DGX ¢ 350 374.0 0.70 < a
15 |DGX ¢ 400 425.6 1.05 _0f
16 |DNS ¢ 450 476.8 1.10
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+ T F B %
PP ¢ 20455% 1. (F/KEAE) 8 LX) B &EHA | X0D= 065 m
PP ¢ 20 HE I (W) FMJE(C)
EHME(D2) 0.027 HE g (W) 0.55 + 0.55 m
HRHIE (W) B (H1) AR iy
RH 8= 0.55 % ( 0.61 + 0.027 + 0.1)= 041
HHIE (W) R (HD) MR
R = 0.55 X ( 0.62 - 0.3 - 0.16)=  0.09
PEHIIE (W) TOHERIE (h1) TR
g2y 0.55 X  0.427 - 0.0006 = 0.23 m
RS
R E R = 0.41 nf
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 2 EHME 27
1 |[PP$13 21.5 0.55 W:| 2 H 1 e 0.55
2 [PP¢20 27.0 0.55
3 [PP¢ 25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |[PP¢50 60.0 0.55
7 [HPE¢ 75 90.0 0.55
8 [HPE ¢ 100 125.0 0.55
A, S -
9 [DGX¢125 143.0 0.55
10 |HPE ¢ 150 180.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 _ | o<
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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+ T F B %
PP ¢ 1345 L. (F/KEAE) 8 LX) B &EHHE | X0D= 065 m
PP ¢ 13 HE I (W) FMJE(C)
EHME(D2) 0.022 HE g (W) 0.55 + = 0.55 m
PEHIIE (W) BR(HD) EHME Le
RH 8= 0.55 % ( 0.61 + 0.022 + 0.1)=  0.40 m
PEHIIE (W) BR(HD) WHREM)
R = 0.55 X ( 0.62 - 0.3 - 0.16)=  0.09 m
PEHIIE (W) TOHERIE (h1) TR
WO = 0.55 X 0422 - 0.0004 = 0.23 m
PR
A L= 0.40 nd
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y e B H 1 g D2:| 1 EHME 21.5
1 |[PP$13 21.5 0.55 W:| 1 H 1 e 0.55
2 |[PP¢20 27.0 0.55
3 |PP$25 34.0 0.55
4 [PP¢ 30 42.0 0.55
5 [PP¢40 48.0 0.55
6 [PP¢50 60.0 0.55
7 |HPE¢ 75 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 [DGX¢125 143.0 0.55 N
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 T
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 ] o=
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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-

BR(H) =

0.30 m

+ T
PP ¢ 250 a% 1. (FKEAf B : 5 11X) wao
PP ¢ 25
EHME(D2) 0.034 HE R (W)
bR (W) BR(HD)
Al &= 0.55 X ( 0.26 +
e (W) BR(HL)
AR = 0.55 X ( 0.27 -
e (W) WHEEE (h1)
R = X -
PR
FAE E = 0.16 m

R HIE (W) KMRIE(C)

0.55

EHME

0.034 +

YRR (h)

+ = 0.55 m
Heiy
)= 0.16 m

i

- 0.16 )= 0.06 m

BT R

KA R (HD) 13, e S HI PR S

D2: A —E K (nm)

Xir| B B HELEULE
1 [PP$13 21.5 0.55
2 _|PP¢ 20 27.0 0.55
3 |PP¢ 25 34.0 0.55
4 |PP¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 |PP¢ 50 60.0 0.55
7 |HPE$ 75 90.0 0.55
8 [DGX ¢ 100 118.0 0.55
9 [DGX¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60
12 [DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70
14 [DGX ¢ 350 374.0 0.70
15 |DGX ¢ 400 425.6 1.05
16 [DNS ¢ 450 476.8 1.10
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+ T & & =
PP ¢ 501 % L (FAGEAMB) : 1 LX) it @ xaD= 0.30 m
PP ¢ 50 PR (W) RIRE(C)
EHME(D2) 0.060 HEHIHE (W) 0.55 + = 0.55
I (W) R (H1) AN e
THI &= 0.55 X ( 0.26 + 0.060 + )= 0.18
HRHIE (W) R (H1) AMBIE()
R = 0.55 x( 0.27 - - 0.16 )= 0.06
HRHIE (W) RO HEFRE (1) RS
O = X - = nf
PR
A = 0.18 m
B R (H) 13, Sl R BR v
D2 : & ME— B (nm)
X5y e EIME EHIE D2:| 6 BHME 60
1 [PP¢13 21.5 0.55 W:| 6 S e 0.55
2 |PP¢ 20 27.0 0.55
3 [PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40 . .
Lo leroso [ o0 | o5 |
7 [HPE ¢ 75 90.0 0.55
8 |DGX ¢ 100 118.0 0.55
RN .
9 |DGX ¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60
12 [DGX ¢ 250 271.6 0.60 =
13 |DGX ¢ 300 322.8 0.70 <
14 [DGX ¢ 350 374.0 0.70 = c
15 |DGX ¢ 400 425.6 1.05 01
16 |DNS ¢ 450 476.8 1.10
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==X
PP ¢ 30f5ax L (FAGEAMB) : 1 LX) it @ xaD= 0.30 m
PP ¢ 30 AR (W) RIRE(C)
EAME(D2) 0.042 S (W) 0.55 + = 0.55 m
HRHE (W) R (H1) IR oy
THI &= 0.55 X ( 0.26 + 0.042 + )= 0.17
HRHIE (W) R (H1) AMBIE()
R = 0.55 X( 027 - - 0.16)=  0.06
e (W) WHLFRIE (h1) e e
OB = X - = m
PR
FAE E = 0.17 m
B R (H) 13, Sl R BR v
D2 : &AM — 3% ()
X5y e EIME EHIE D2:| 4 BHME 42
1 [PP¢13 21.5 0.55 W:| 4 S e 0.55
2 [PP¢ 20 27.0 0.55
3 [PP¢ 25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP¢50 60.0 0.55
7 [DGX¢ 75 93.0 0.55
8 |DGX ¢ 100 118.0 0.55
RN -
9 |DGX ¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 [DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 _ <
14 [DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10 R )




+ T

i

=N

B

==X
PP ¢ 250 a% L (FAGEAMB) : 1 LX) it @ xaD= 0.30 m
PP ¢ 25 AR (W) R (C)
EAME(D2) 0.034 S (W) 0.55 + 0.55 m
I (W) R (H1) IR e
THI &= 0.55 X ( 0.26 + 0.034 + )= 0.16
HRHIE (W) R (H1) MR
R = 0.55 x( 0.27 - - 0.16 )= 0.06
e (W) WHLFRIE (h1) e e
R = X - = m
PR
FAE E = 0.16 m
B R (H) 13, Sl R BR v
D2 : &AM — 3% ()
S H BHME R D2:| 3 BV 34
1 |PP$13 21.5 0.55 W:| 3 HEHIE 0.55
2 |PP¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 |PP¢50 60.0 0.55
7 _|DGX¢ 75 93.0 0.55
8 |DGX ¢ 100 118.0 0.55
SRR,
9 |DGX¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 [DGX ¢ 200 220.0 0.60 =
12 [DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ | <
14 [DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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+ T

i

=N

B

==X
PP ¢ 2015 % L (FAGEAMB) : 1 LX) it @ xaD= 0.30 m
PP ¢ 20 AR (W) R (C)
EAME(D2) 0.027 S (W) 0.55 + 0.55 m
I (W) R (H1) IR e
THI &= 0.55 X ( 0.26 + 0.027 + )= 0.16
HRHIE (W) R (H1) MR
R = 0.55 x( 0.27 - - 0.16 )= 0.06
e (W) WHLFRIE (h1) e e
R = X - = m
PR
FAE E = 0.16 m
B R (H) 13, Sl R BR v
D2 : &AM — 3% ()
X5y e EIME EHIE D2:| 2 BHME 27
1 |PP$13 21.5 0.55 W:| 2 HEHIE 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 |PP¢50 60.0 0.55
7 |HPE¢ 75 90.0 0.55
8 |DGX ¢ 100 118.0 0.55
R
9 |DGX¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 [DGX ¢ 200 220.0 0.60 =
12 [DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ | <
14 [DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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==X
PP ¢ 1315 L (FAGEAMB) : 1 LX) it @ xaD= 0.30 m
PP ¢ 13 AR (W) R (C)
EHME(D2) 0.027 AR (W) 0.55 + = 0.55 m
g (W) BR(HL) EHME By
THI &= 0.55 X ( 0.26 0.027 + )= 0.16 m
e (W) BR(HL) WMREE M) AR
AR = 0.55 X ( 0.27 - 0.16 )= 0.06 nf
e (W) WHLFRIE (h1) e e
OB = X = m
PR
FAE E = 0.16 m
B R (H) 13, Sl R BR v
D2 : &AM — 3% ()
X5y e EIME S HIhE D2:| 1 BHME 27
1 |PP$13 21.5 0.55 W:| 1 HEHIE 0.55
2 |PP¢ 20 27.0 0.55
3 [PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP¢50 60.0 0.55
7 [HPE ¢ 75 90.0 0.55 c.i) W || o
8 |DGX ¢ 100 118.0 0.55 _
9 |DGX ¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 [DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 _| o<
14 [DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10 R )
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-

BR(H) =

0.30 m

+ T
PP ¢ 250 5% 1. (FKEAf B : 6 1. 1X) w5
PP ¢ 25
EHME(D2) 0.034 HE R (W)
bR (W) BR(HD)
Al &= 0.55 X ( 0.26 +
e (W) BR(HL)
AR = 0.55 X ( 0.27 -
e (W) WHEEE (h1)
R = X -
PR
FAE E = 0.16 m

R HIE (W) KMRIE(C)

0.55

EHME

0.034 +

YRR (h)

+ = 0.55 m
Heiy
)= 0.16 m

i

- 0.16 )= 0.06 m

BT R

KA R (HD) 13, e S HI PR S

D2: A —E K (nm)

Xir| B B HELEULE
1 [PP$13 21.5 0.55
2 _|PP¢ 20 27.0 0.55
3 |PP¢ 25 34.0 0.55
4 |PP¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 |PP¢ 50 60.0 0.55
7 |HPE$ 75 90.0 0.55
8 [DGX ¢ 100 118.0 0.55
9 [DGX¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60
12 [DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70
14 [DGX ¢ 350 374.0 0.70
15 |DGX ¢ 400 425.6 1.05
16 [DNS ¢ 450 476.8 1.10
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T+ T B =

PP ¢ 13{a% I (F/KiEAGE) 6 TIX) st %K @)= 0.30 m

PP ¢ 13 PR (W) RIRE(C)
EHME(D2) 0.022 R (W) 0.55 + = 0.55
I (W) R (H1) AN e
PRHI = 0.55 X ( 0.26 + 0.022 + )= 0.15 m
IR (W) R (H1) MR
R = 0.55 X( 027 - - 0.16)=  0.06 m
e (W) WHLFRIE (h1) e e
R = X - = i
PR
FAE E = 0.15 m

KA R (HD) 13, e S HI PR S

D2: A —E K (nm)

X5y e EIME S HIhE D2:| 1 BHME 21.5
1 [PP¢13 21.5 0.55 W:| 1 S e 0.55
2 [PP¢ 20 27.0 0.55
3 [PP¢25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP¢50 60.0 0.55
7 [DGX¢ 75 93.0 0.55 o
8 |DGX ¢ 100 118.0 0.55
RN
9 |DGX ¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 _ <
14 [DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05
16 |DNS ¢ 450 476.8 1.10 R )
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BR(H) =

0.30 m

+ T
PP ¢ 250 3% 1. (FKEAf B : 8 1. 1X) A w5
PP ¢ 25
EHME(D2) 0.034 HE R (W)
bR (W) BR(HD)
Al &= 0.55 X ( 0.26 +
e (W) BR(HL)
AR = 0.55 X ( 0.27 -
e (W) WHEEE (h1)
R = X -
PR
FAE E = 0.16 m

R HIE (W) KMRIE(C)

0.55

EHME

0.034 +

YRR (h)

+ = 0.55 m
Heiy
)= 0.16 m

i

- 0.16 )= 0.06 m

BT R

KA R (HD) 13, e S HI PR S

D2: A —E K (nm)

Xir| B B HELEULE
1 [PP$13 21.5 0.55
2 _|PP¢ 20 27.0 0.55
3 |PP¢ 25 34.0 0.55
4 |PP¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 |PP¢ 50 60.0 0.55
7 |HPE$ 75 90.0 0.55
8 [DGX ¢ 100 118.0 0.55
9 [DGX¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60
12 [DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70
14 [DGX ¢ 350 374.0 0.70
15 |DGX ¢ 400 425.6 1.05
16 [DNS ¢ 450 476.8 1.10
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T+ T B =

PP ¢ 20{a% I (F/KiEAGE) : 8 TIX) Jrigatw  |% K@D = 0.30 m

PP ¢ 20 PR (W) RIRE(C)
EHME(D2) 0.027 R (W) 0.55 + = 0.55
I (W) R (H1) AN e
PRHI = 0.55 X ( 0.26 + 0.027 + )= 0.16 m
IR (W) R (H1) MR
R = 0.55 X( 027 - - 0.16)=  0.06 m
e (W) WHLFRIE (h1) e e
R = X - = i
PR
FAE E = 0.16 m

KA R (HD) 13, e S HI PR S

D2: A —E K (nm)

X5y e EIME EHIE D2:| 2 BHME 27
1 [PP¢13 21.5 0.55 W:| 2 S e 0.55
2 |PP ¢ 20 27.0 0.55
3 |PP¢ 25 34.0 0.55
4 |PPo30 42.0 0.55
5 |PP¢40 48.0 0.55
6 |PP ¢ 50 60.0 0.55
7 |DGX ¢ 75 93.0 0.55 -
8 |DGX ¢ 100 118.0 0.55
AR
9 |DGX¢ 125 143.0 0.55
10 |DGX ¢ 150 169.0 0.55
11 [DGX ¢ 200 220.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 R
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX ¢ 400 425.6 1.05
16 |DNS ¢ 450 476.8 1.10 R )
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+ T

i

=N

B

==X
PP ¢ 13fia% L (FAGEAMB) : 8 LX) Bfitid @ xaD= 0.30 m
PP ¢ 13 AR (W) R (C)
EAME(D2) 0.022 S (W) 0.55 + 0.55 m
I (W) R (H1) IR e
THI &= 0.55 X ( 0.26 + 0.022 + )= 0.15
HRHIE (W) R (H1) MR
R = 0.55 x( 0.27 - - 0.16 )= 0.06
e (W) WHLFRIE (h1) e e
R = X - = m
PR
FAE E = 0.15 m
B R (H) 13, Sl R BR v
D2 : &AM — 3% ()
X5y e EIME S HIhE D2:| 1 BHME 21.5
1 |PP$13 21.5 0.55 W:| 1 HEHIE 0.55
2 |PP¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 |PP¢50 60.0 0.55
7 _|DGX¢ 75 93.0 0.55
8 |DGX ¢ 100 118.0 0.55
SRR,
9 |DGX¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 [DGX ¢ 200 220.0 0.60 =
12 [DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ | <
14 [DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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AREF(F/KEEEM1TX) HPE()T5. PP 20-13 &#f

W B K O 5 A

4 b5ikig BB
[&#4] A%
EF%Z N AR ¢ 75 7.0 7.0 %N
R Z=F LT ¢ 20 1.0 1.0 m
$13 6.5 6.5 m
WK LLE)FR 675 1 1 3
g 675
U E (MF1E) | JWWA B 132 1 1 HH
YT
RB25 (K) 2 2 i
EEE
RB25 (A) 1 1 &l
TR
RB25(C) 1 1 &
JEERR
RB25 (P) 1 1 HH
PVY 4ok $ 20 1 1 1A
$13 5 5 &
HPEM
YRS KR & 75X ¢ 20 1 1 1
¢ 75X ¢ 13 5 5 1I&
PCVaAr b ¢ 75 1 1 18
¢ 75
HHRT—7 150mm 44.5 52.0 m
~—H—H 6 6 &




- . s 9
AR (T/KEEM:1TX) HPE®75. PP ¢ 20-13 7
& B T el B OR | w
[57%] A
RYTF LR L ¢ 75 44.5 44.5 m
¢ 20 1.0 1.0 m
¢ 13 6.5 6.5 m
[EX:4 F o)
Rl AT T $75 80 + 1.0 9.0 u]
ok LR RaAVI%
PPt T. ¢ 20 20 + 0.0 + 1.0 3 =]
Vv TR PR
$13 10.0 + 0.0 + 5.0 15 u]
HRT—F % L 52.0 52.0 m
KAL)k E L
(PR ETe) ¢ 75 1 1 [0
R)=F LA
FRAGKERIAL T ¢ 75X ¢ 20 1 1 i ET
R)=F LA
GT5X ¢ 13 5 5 £
AR =T )VHRF L ¢ 75 1 1 m]
PP&H
AR =T )VHRFE T ¢ 75 1 1 m
HPE%
I T ¢ 75 1 ]
REER B
BET T PP ¢ 50 0.9 x1.216 = 1.03 1.0 kg
1.0 kg
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REZ(TF/KEE®R1TX) PP$50-20-13 E#

b B Wit BERT R O
(5411 ik
RYZF LT ¢ 50 90.5 + 4.0 945 | m
¢ 20 00 + 25 2.5 m
613 0.0 + 8.0 8.0 m
PP/ 47wk ¢ 50 2 2 1"
PP /LA 50 4 4 &
PV ¢ 20 1 1 1A
$13 5 5 &
PPH /L5 kAE $ 50X 20 1 1 18
$50X13 5 5 18
DIPH
PRk 675X ¢ 50 2 2 &
PRI ¢ 50 90.5 90.5 | m
DIPFy> 075 2 2 &
VAUV oA ¢ 50 2 2 1l
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RE% (F/KEEM: 1TX) PP$50-20-13 7%

(o) ‘ R
£ Hirk B 4 R OF B A ¥og | Wz
[5%5] 1%
ARV F LR L ¢ 50 94.5 94.5 m
¢ 20 2.5 2.5 m
¢ 13 8.0 8.0 m
Vv F—R LR WL
PPitF T ¢ 50 40 + 0.0 + 80 + 2.0 14 O
ok F— LR A%
¢ 20 20 + 00 + 0.0 + 1.0 3 m
ok F—x LR g
613 100 + 00 + 0.0 + 5.0 15 =
PR KRREGA T ¢ 75X ¢ 50 2 2 T
DIP%%
B T ¢ 75 2 =)
R F LB ET ¢ 50 94.5 94.5 m
¢ 20 2.5 2.5 m
613 8.0 8.0 m
HiEFe R
BT PP ¢ 50 94.5 X 1.216 = 114.91 114.9 | kg
R R
PP ¢ 20 2.5 X 0.269 = 0.67 0.7 kg
IER R
PP ¢ 13 8.0 X 0.184 = 1.47 1.5 kg
a5 1171 ke
PP /LR %k i
AT Z T ¢ 50 4 X 3.170 = 12.68 12.7 kg
PV /o h %k O
¢ 20 1 X 0545 = 0.55 0.5 kg
PVY /b %% iy
613 5 X 0.375 = 1.88 1.9 kg
PPF—2X fE%% R
50X 20 1 X 3570 = 3.57 3.6 kg
PPF—2X fE%% B
¢ 50X 13 5 X 3.400 = 17.00 17.0 kg
a8t | 35.7 kg
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ARFZ(TF/KEBEM:2TX) PP¢$50-30-13 &E#H

b R e e I R Of B K BoE | w
[&#4] AG%
RYVEFL L RAT ¢ 50 3.5 3.5 m
¢ 30 36.5 36.5 m
$13 9.0 9.0 m
V7R — LIS ¢ 50 1 1 i
g ¢ 50
U E (MF1E) | JWWA B 132 1 1 HH
YT
RB25 (K) 2 2 i
EEE
RB25 (A) 1 1 &l
TR
RB25(C) 1 1 &
JEERR
RB25 (P) 1 1 HH
PPV 4 vk $50X30 1 1 i
$30X13 2 2 |
PVY 4ok $13 4 4 i
pPPF—X ¢ 30 1 1 |
$30X13 2 2 |
PP /LR ¢ 13 1 1 1
MFEYaA b ¢ 50 2 2 i
¢ 50 ¢ 30 613
HRT—7 150mm 35 + 365 + 9.0 49.0 m
~—1—# 7 7 1
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ARFZ(F/KEEMHM:2TX) PP$50-30-13 Fi%

& B

piikicy

[ e O 5K

E g A
[5%5] A
AVZF LB T ¢ 50 3.5 3.5 m
¢ 30 36.5 36.5 m
¢ 13 9.0 9.0 m
PR E T
(R ETe) ¢ 50 1 1 [0
ok F—=x TR A wig
PPt T. ¢ 50 1.0 + 0.0 + 00 + 0.0 1 u]
ok F—= TR A wig
¢ 30 3.0 + 7.0 + 0.0 + 0.0 10 =]
ok F—= TR A g
¢ 13 100 + 2.0 + 0.0 + 0.0 12 m]
ART—7 gk T 49.0 49.0 m
PPEH
A =T VT L ¢ 50 2 2 O
TR L ¢ 50 2 2 O
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RE% (F/AKEEM:2TR) PP$25-13 &4t

b B Wit BERT R R
[%41] 1R

RITFLL AT ¢ 25 38.0 2.0 400 | m

613 10.0 10.0 | m

PP /LR $13 1 1 &

PPy $25X13 2 2 1

PVY ok ¢ 13 4 4 &

PPF—R $25 1 1 1

$25%13 2 2 1

TRIRE $25 38.0 38.0 | m
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REE (F/KEEHM:2TR) PPp25-13 55

N \ T
b B ks ko tay o
[5%5] 1%
RN F L EARR T ¢ 25 40.0 40.0 m
¢ 13 10.0 10.0 m
Vv F—x TR HRL
PPk T. ¢ 25 2.0 7.0 0.0 + 1.0 10 O
Vv F—x LR
¢ 13 10.0 0.0 2.0 12 O
RYZF LU HET ¢ 25 40.0 40.0 m
¢ 13 10.0 10.0 m
IS E
BT PP ¢ 25 40.0 0.423 16.92 16.9 kg
e i
PP 13 10.0 0.184 1.84 1.8 kg
a5t 18.8 kg
PP LR s )
FEERARIF T ¢ 13 1 0.340 0.34 0.3 kg
PPY vk %% B,
$25%X13 2 0.475 0.95 1.0 kg
PVY ok {545 H
¢ 13 4 0.375 1.50 1.5 kg
PPF—X % e
¢ 25 1 1.180 1.18 1.2 kg
PPF—X % s
$25%X13 2 0.970 1.94 1.9 kg
a8t 5.9 kg
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ARFZ(TF/KEBEM:3TX) PP¢$50-25-13 &E#H

4 % Kike W 1 B O B OB Wi
[&#4] A%
RYVEFL L RAT ¢ 50 4.0 4.0 m
$25 36.0 36.0 m
613 4.0 4.0 m
V7R — LIS ¢ 50 1 1 i
g ¢ 50
U E (MF1E) | JWWA B 132 1 1 HH
YT
RB25 (K) 2 2 i
EEE
RB25 (A) 1 1 &l
TR
RB25(C) 1 1 &
JEERR
RB25 (P) 1 1 il
PPV 4 vk ¢ 50%X25 1 1 e
¢ 25%X13 1 1 1#
PVY 4ok $13 2 2 1A
PPF—X ¢ 25X13 1 1 1
PP /LR ¢ 13 1 1 1
HPEM
PRV SRR ¢ 75X ¢ 50 1 1 eS|
MFEYaA b ¢ 50 2 2 i
¢ 50 $25 613
HrRT—7 150mm 4.0 + 360 + 4.0 44.0 m
~—1—# 5 5 1
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AEZ(F/KEEM:3TK) PP¢$50-25-13 35

%

NN ]
& B T Wl B U A B OR | w
[5%5] A

RYTF LB A% T ¢ 50 4.0 4.0 m

$25 36.0 36.0 m
$13 4.0 4.0 m
PR E T
(R ETe) ¢ 50 1 1 [0
ok F—=x TR A wig
PPt T. ¢ 50 1.0 + 0.0 + 00 + 1.0 2 u]
ok F—= TR A wig
$25 20 + 20 + 00 + 0.0 4 =]
ok F—= TR A g
613 50 + 1.0 + 2.0 0.0 8 u]
HRT—F % L 44.0 44.0 m
PP%
A =T VT L ¢ 50 2 2 =
TR L ¢ 50 2 2 m
PR AR ¢ 75X 50 1 1 £
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REZ(T/KEEM:3TX) PP$p20-13 &t

4 ik W B K O 5 A

G A
[&#] %

RYTF LT ¢ 20 35.0 + 25 37.5 m
613 1.0+ 2.0 3.0 m

PP LR $20 3 3 1
$13 1 1 1

PPV 47k $ 5020 1 1 i
$20X13 1 1 &l

PVY /o ¢ 13 2 2 &
PPF—X ¢ 20X13 1 1 {I&
PRI ¢ 20 35.0 35.0 | m
$13 1.0 1.0 m
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REE (F/KEEMHM:3TX) PP$20-13 55

[0} ‘ T o
b B e ko tay o
[5%5] 1%
RIzF L BT T ¢ 20 37.5 37.5 m
¢ 13 3.0 3.0 m
Vv F—R TR
PPk T T. ¢ 20 2.0 2.0 6.0 10 ]
Vv F—x LR
¢ 13 5.0 1.0 2.0 8 H]
R F LB ET ¢ 20 37.5 37.5 m
¢ 13 3.0 3.0 m
R E
ek -4 PP ¢ 20 37.5 0.269 10.09 10.1 kg
SR i
PP¢ 13 3.0 0.184 0.55 0.6 kg
a5t 10.6 kg
PP LR s )
FEERARIF T ¢ 20 3 0.490 1.47 1.5 kg
PPx /LR %% i
¢ 13 1 0.340 0.34 0.3 kg
PPV ok %% B,
$20X13 1 0.475 0.48 0.5 kg
PV ok T4 s
¢ 13 2 0.375 0.75 0.8 kg
PPF—X % T
$20X13 1 0.710 0.71 0.7 kg
&t 3.7 kg
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ARFZ(TF/KEBEM:4TX) PP$50-20-13 &E#H#

4 % Kike W 1 B O B OB Wi
[&#4] A%
RYVEFL L RAT ¢ 50 3.0 3.0 m
¢ 20 26.0 26.0 m
$13 3.0 3.0 m
V7R — LIS ¢ 50 1 1 i
g ¢ 50
U E (MF1E) | JWWA B 132 1 1 HH
YT
RB25 (K) 2 2 i
EEE
RB25 (A) 1 1 &l
TR
RB25(C) 1 1 &
JEERR
RB25 (P) 1 1 il
PPV 4 vk ¢ 50 X20 1 1 e
¢ 20X 13 1 1 1#
PVY 4ok $13 2 2 1A
PPF—X ¢ 20X13 1 1 1
PP /LR ¢ 13 1 1 1
HPEM
PRV SRR ¢ 75X ¢ 50 1 1 eS|
MFEYaA b ¢ 50 2 2 i
¢ 50 $20 613
HrRT—7 150mn 3.0 + 260 + 3.0 32.0 m
~—1—# 5 5 1
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AZ(T/KEEM:4TX) PP$50-20-13 FHiE

[N E=N wr = "
& B T Wl B U A B OR | w
[5%5] A%
AVZF LB T ¢ 50 3.0 3.0 m
$20 26.0 26.0 m
$13 3.0 3.0 m
Ik E T
(R ETe) ¢ 50 1 1 [0
ok F—=x TR A wig
PPt T. ¢ 50 1.0 + 0.0 + 00 + 1.0 2 u]
ok F—= TR A wig
$20 20 + 20 + 00 + 0.0 4 ]
ok F—= TR A g
613 50 + 0.0 + 2.0 + 0.0 7 5]
HRT—F % L 32.0 32.0 m
PP%
A =T VT L ¢ 50 2 2 O
TR L ¢ 50 2 2 O
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RE% (F/AKEEM:-4TX) PP$20-13 &

ik W B K O 5 A

E s BB | e
(5411 ek
RYzF Lo A7 $20 26.5 + 2.5 29.0 | m
613 1.0+ 20 3.0 m
PP /LR $13 1 1 &
PPy $20X13 1 1 1
PVY ok ¢ 13 2 2 1
PPF—X $20X13 1 1 1
HPEH]
PRSIk ¢ 75X ¢ 20 1 1 i@
PrRIRIE ¢ 20 26.5 265 | m
VANIG v oA $ 20 1 1 18l
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REE (F/KEEHM:-4TR) PP)20-13 55

(o) ‘ R
4 F e W I R O B K BOE | w
[57%] 1%
RYTF LA T $20 29.0 29.0 m
¢ 13 3.0 3.0 m
ok F—R TR A i
PPitF T ¢ 20 1.0 + 20 + 00 + 1.0 4 m
Vv F—R LR WL
613 40 + 1.0 + 2.0 + 0.0 7 m
R)=F LA
PRAGAKARRAR T ¢ 75X ¢ 20 1 1 T
AT LR ET ¢ 20 29.0 29.0 m
¢ 13 2.0 2.0 m
HEFe R
BT PP ¢ 20 29.0 X 0.269 = 7.80 7.8 kg
EE R
PP 13 3.0 X 0.184 = 0.55 0.6 ke
&t 8.4 kg
PP /LR %% i
AT Z T ¢ 13 1 X 0.340 = 0.34 0.3 kg
PPV /b %% I
$20X13 1 X 0475 = 0.48 0.5 kg
PVY ok {5145 s
613 2 X 0.375 = 0.75 0.8 kg
PPF—X fE%% o
$20X13 1 X% 0710 = 0.71 0.7 kg
a5t 2.3 kg

167



AFZ(TF/KEBEM:5TX) PP¢$50-25-13 &E#H#

4 sk MR O A R |
[&#4] A%
RYVEFL L RAT ¢ 50 2.5 2.5 m
$25 42.5 42.5 m
613 1.0 1.0 m
V7R — LIS ¢ 50 1 1 i
g ¢ 50
U E (MF1E) | JWWA B 132 1 1 HH
YT
RB25 (K) 2 2 i
EEE
RB25 (A) 1 1 &l
TR
RB25(C) 1 1 &
JEERR
RB25 (P) 1 1 HH
PPV 4 vk $50X25 1 1 e
625 1 1 &
PVY 4ok $13 1 1 1A
PPF—X ¢ 25X13 1 1 1
PP /LR ¢ 25 1 1 1
MEYaA b ¢ 50 2 2 1
¢ 50 ¢ 30 613
HrT—7 150mm 25 + 425 + 1.0 46.0 m
~— T 3 3 &
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ARFZ(TF/KEBEM:5TX) PP$p50-25-13 Hi%

& B

piikicy

[ e O 5K

$o& | W
[5%5] N
AVZF LB T ¢ 50 2.5 2.5 m
¢ 25 42.5 42.5 m
¢ 13 1.0 1.0 m
E)FpERE T
(R ETe) ¢ 50 1 1 EAT
ok F—=x TR A wig
PPt T. ¢ 50 1.0 + 0.0 + 00 + 0.0 1 u]
ok F—= TR A wig
¢ 25 3.0 + 20 + 20 + 0.0 7 5]
ok F—= TR A g
¢ 13 20 + 1.0 + 00 + 0.0 3 5]
R T —7 Higx L 46.0 46.0 m
PP 1
A =T VT L ¢ 50 2 2 =
TR L ¢ 50 2 2 m
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(3

H(T/KEBEM:5TX) PP¢25-13 &#

b B Wit BERT R R
[%41] ik
RYZF LS ¢ 25 425 + 25 450 | m
613 0.0 + 05 0.5 m
PP /LR $25 2 2 &
PPV 4wk ¢ 25 1 1 1"
PVY 4ok 613 1 1 1A
PPF—X $25X13 1 1 1
PRI 025 42.5 425 | m
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RS (F/KEEHM:-5TR) PPp25-13 55

[0} ‘ e B | e
b B e ko tay o
[5%5] 1%
RIzF L BT T ¢ 25 45.0 45.0 m
¢ 13 0.5 0.5 m
Vv F—R TR
PPk T. ¢ 25 20 + 20 + 4.0 8 n
Vv F—x LR
¢ 13 20 + 1.0 + 0.0 3 [
RN F L ERET b 25 45.0 45.0 m
¢ 13 0.5 0.5 m
IS E
BT PP ¢ 25 45.0 X 0.423 = 19.04 19.0 kg
e i
PP 13 0.5 X 0.184 = 0.09 0.1 kg
a8t 19.1 kg
PP LR s )
AT ¢ 25 2 X 0.720 = 1.44 1.4 kg
PPV /b %% R
¢ 25 1 X 0.750 = 0.75 0.8 kg
PVY /o %% )
¢ 13 1 X 0375 = 0.38 0.4 kg
PPF—X % e
$25%X13 1 X 0970 = 0.97 1.0 kg

ARt 35 kg
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AFZ(TF/KEEM:TTX) PP¢$50-25-13 &#

W B K O 5 A

E ) Hirk R |
[&#] AE%

RYZF LA T ¢ 50 1.0 1.0 m

625 49.0 49.0 m

$13 2.0 2.0 m

PPk $ 50 %25 1 1 il

$25X13 1 1 &l

PVY /oy ¢ 13 2 2 &

pPPF—X $25%13 1 1 &l

PP /LR ¢ 25 2 2 &l

MFYaA > b ¢ 50 1 1 &l

¢ 50 ¢ 25 ¢ 13
HRT—7 150mm 1.0+ 49.0 + 2.0 520 | m
~——*#t 5 5 &
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ARFZ(F/KEEM:TTX) PP$50:25-13 Fi%

N R I
%4 F ks el ok | v
[5%5] N
RV ZF L EARFE T ¢ 50 1.0 1.0 m
¢ 25 49.0 49.0 m
¢ 13 2.0 2.0 m
ok F—= TR A g
PPt T. ¢ 50 1.0 + 0.0 + 00 + 0.0 1 u]
Vi F—x TR PR
¢ 25 20 + 20 + 40 + 0.0 8 5]
ok F—= TR A wig
613 50 + 1.0 + 0.0 + 0.0 6 5]
ART—7Higk T 52.0 52.0 m
PP/
A =T VT L ¢ 50 1 1 =
TV ¢ 50 1 1 =
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(3

H(T/KEEMH:.TTX) PP¢20-13 &H

b B Wit BERT R R
[%41] ik
RYZF LT ¢ 20 24.0 + 265 50.5 | m
613 0.0 + 2.0 2.0 m
PP /LR $20 6 6 &
PPy $50 %20 1 1 1
$20X13 1 1 1
PVY ok ¢ 13 2 2 1
PPF—X ¢ 20X 13 1 1 1I&
PRI ¢ 20 24.0 240 | m
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REE (F/KEEMHM:.7TTR) PP$20-13 55

[0} ‘ T o
b B e ko tay o
[5%5] 1%
RN F L EARR T ¢ 20 50.5 50.5 m
¢ 13 2.0 2.0 m
ok F—R TR PR
PPitF T ¢ 50 1.0 + 0.0 + 00 + 0.0 1 m]
Vv F—x LR WL
¢ 20 20 + 2.0 + 12.0 + 0.0 16 [
Vi F— LR A
¢ 13 50 + 1.0 + 0.0 + 0.0 6 ]
RYTF LU HET ¢ 20 50.5 50.5 m
¢ 13 2.0 2.0 m
fiaes Y
BT PP ¢ 20 50.5 X 0.269 = 13.58 13.6 kg
JEE Y
PP ¢ 13 2.0 X 0.184 = 0.37 0.4 kg
&t 14.0 kg
PP /LR %% i
AT ¢ 20 6 X 0.490 = 2.94 2.9 kg
PPY vk %% )
¢ 50X 20 1 X 1.960 = 1.96 2.0 kg
PPY vk %% )
620X 13 1 X 0475 = 0.48 0.5 kg
PVY /o %% B
¢ 13 2 X 0.375 = 0.75 0.8 kg
PPF—X % s
$ 20X 13 1 X 0710 = 0.71 0.7 kg

a8t 6.8 kg

175




oro = w 060! X W 00 X w/3 €200

01°0 01°0 w T Loy - ARG
WG FE S G AYFYS EE¥

01°0¢ 0¢ w 09°¢ + 090 + 0662 wog=1 *(¢1) SV H Tl T8¢
01°0¢ 0¢ w 09°¢ + 090 + 0663 wogT =1 ‘OF-D¥ T
0Z'1 71 w ¥I°0 + 200 +  FO'T SY L0
02T A w ¥I°0 + 200 +  ¥O'1 SY Y B3
0£°0¢ 0¢ ol 092 + 0F0 + 0£.L2 T 5
0¢°0¢ 0¢ w 092 + 0F0 + 0£.% TH@ WECT %%
06°¢T il w 06T + 020 + 0272l Gl T3 Qi
6V 11 21 w 090 + 6000 + 080T o —ON TN @
0¢°0¢ 0¢ w 092 + 0F0 + 0£.2 THM (1
01°0¢ 0¢ i} 09°¢ + 090 + 0663 A YAWO0T =1 SV | T30 Y3
00°60T 601 w 00¢T + 002 + 00¥6 J YAWogT =13 ‘sy LI G 35

c1 o 02 GL®

dd dd ddH

Boow | w o ow |me|  EHEEETT By (FTUHEN L) MBCEhY e ow oA w %




600 = w 086 X W 00 X w/3 €200

60°0 60°0 u T - EAR G
T (G0 3FRES SE NG FYE ERF#

0022 L7 1 006 + 0102 + 061 wog=1 *(£1) SV TS Ja T2
0022 L7 1 006 + 0102 + 0671 wog9T =1 ‘0F-0Y T
80°T 80°T oy 020 + 080 + 800 sy VLM GET
80'T 80°T w 020 + 080 + 800 sV e T 2
09°0% 12 w 09°¢ + 00T + 00% Tl
09°0Z 12 oy 09°¢ + 00GT + 007 T HH WHET %
08'TT 4! w 01’2 + 088 + 060 il T4 R
68°'F% g w 080 + 62¢€ + 080 0F— 0¥ T R
09°0Z 12 oy 09°¢ + 00GT + 007%C FHE@ ek
00°L% LT m 006 + 0102 + 06T JYFuWopT=1 SV | T GxH Ny
00°86 86 w 008T + 00°€L + 002 J yquogr =1 ‘sy TG R

e o 0c P 05 ¢

dd dd dd

Bow | w o ow |wn|  HEIEELT v (AL EHENKL) MARCERIEY R oE W A ¥ %




6°GZ w GG'0 X 00°LV wog =1 “ (€1) SV FTHHF fet TEE
6°G2 1 660 X 00°L¥ wo9T=1 ‘07-0Y TE
70'T w sV AL T
v0'1 w 00 X 0662 sV e 0 T 34
€13 Iy 0€°L2 i
€132 w 860 X 00°L¥ G A 3%
¢'el w 920 X 00°L¥ il T3 e
80T w €20 X 00°L¥ 0F-0u T @R
ez u 86°0 X 00°L¥ FH G (I
6°G2 m 660 X 00°L¥ L YqwoQT=1 SV | TR
076 w 002 X 00°L¥ J yquoQr =13 sy TGRS
" Ty HEERE (KT e EOK ) T3E6.L ¢ ddH O % A | oW %
= VE( wo =VEHY;
L XF g w00 L) =T gL ¢ ddH

178




9°0 A 660 X 00T wog =1 * (61) SV HI Ty f TERE
90 1 6&'0 X 00T wo9T=1 ‘0F-0 LR
200 w sV AV AT
200 oy 00 X 090 Y H Y B X
70 oy 0¥°0 RS
70 w 0 X 00T T H M 3
20 w €20 X 00T i T R
10 Iy 60°0 X 00T 07-0Y T4 Rl
V0 u 70 X 00T FEM L
9°0 o0 6&'0 X 00T A FWoQT=1 SV | T F xR
07 002 X 00T A yqwogr =1 ‘sv TGRS
u HALEE (KT A ) TR0z ¢ dd AR N A | W
=& (EK wo =VE(MG
&% w001 =TT 02 ¢ dd

179




9¢ GG'0 059 wWog=1 “ (£1) SV T T 1 T&¥
9'¢ Geo 059 wo9 =1 ‘OF-0¥ TERSE
710 sY T4
¥1°0 70°0 09°¢ Sy HA 0 B 2
97 09°% T
97 070 X 0G'9 FE MECT 3%
G'1 €z°0 X 059 b T Qi
90 60°0 X 059 00 T Wil
97 0%°0 X 069 THE (I EE
9°¢ GG0 X 0G'9 JawWoQT=1 SV | T ¥ oxHNYFEE
0°¢l 002 X 069 J yqwogr =1 sy TGRS
" AL (T s EOKL) TRy E1 ¢ dd A A | W
=1 =VEH
LXFAL = VER re 059 =TT er ¢ dd

180




+ T F B %
HPE ¢ 75A8% T (FAGE M : 1 TX) BmeEH % xXaD= 090 m
HPE ¢ 75 IR (W) RHRE (C)
EHME(D2) 0.090 HE g (W) 0.55 + = 0.55 m
HRHIE (W) B (H1) AR iy
RH 8= 0.55 % ( 0.86 + 0.090 + 0.1)=  0.58 m
HHIE (W) R (HD) MR
R = 0.55 X ( 0.87 - 0.3 - 0.16)=  0.23 m
I (W) PRI (1) BT A
WO = 0.55 X  0.490 - 0.0064 = 0.26 m
RS
T A E = 0.58 m
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 7 EHME 90
1 |[PP$13 21.5 0.55 W: |7 e 0.55
2 [PP¢20 27.0 0.55
3 |PP$25 34.0 0.55
4 [PP¢ 30 42.0 0.55
5 |PP 40 48.0 0.55
6 |[PP ¢ 50 60.0 0.55
7 |HPE¢ 75 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 |DGX 6125 143.0 0.55 N
10 |HPE ¢ 150 180.0 0.55
11 |DGX ¢ 200 220.0 0.60
12 |DGX ¢ 250 271.6 0.60 =
13 |DGX ¢ 300 322.8 0.70 <
14 |DGX ¢ 350 374.0 0.70 < a
15 |DGX ¢ 400 425.6 1.05 _0f
16 |DNS ¢ 450 476.8 1.10
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+ T F B %
PP ¢ 20455% L. (F/KEHEM: 1 LX) & |8 X0eD= 065 m
PP ¢ 20 HE I (W) FMJE(C)
EHME(D2) 0.027 HE g (W) 0.55 + 0.55 m
HRHIE (W) B (H1) AR iy
RH 8= 0.55 % ( 0.61 + 0.027 + 0.1)= 041
HHIE (W) R (HD) MR
R = 0.55 X ( 0.62 - 0.3 - 0.16)=  0.09
PEHIIE (W) TOHERIE (h1) TR
g2y 0.55 X  0.427 - 0.0006 = 0.23 m
RS
R E R = 0.41 nf
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 2 EHME 27
1 |[PP$13 21.5 0.55 W:| 2 H 1 e 0.55
2 [PP¢20 27.0 0.55
3 [PP¢ 25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP¢50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55
8 [HPE ¢ 100 125.0 0.55
A, S -
9 [DGX¢125 143.0 0.55
10 |HPE ¢ 150 180.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 _ | o<
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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+ T F B %
PP ¢ 134G L (F/KEHEM: 1 LX) BEEHHE XD = 065 m
PP ¢ 13 HE I (W) FMJE(C)
EHME(D2) 0.022 HE g (W) 0.55 + = 0.55 m
HRHIE (W) B (H1) AR iy
RH 8= 0.55 % ( 0.61 + 0.022 + 0.1)=  0.40 m
HHIE (W) R (HD) MR
R = 0.55 X ( 0.62 - 0.3 - 0.16)=  0.09 m
PEHIIE (W) TOHERIE (h1) TR
WO = 0.55 X 0422 - 0.0004 = 0.23 m
RS
R E R = 0.40 nf
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y e B I D2:| 1 EHME 21.5
1 |[PP$13 21.5 0.55 W:| 1 H 1 e 0.55
2 |[PP¢20 27.0 0.55
3 [PP¢ 25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP¢50 60.0 0.55
7 |HPE ¢ 75 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 [DGX¢125 143.0 0.55 N
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 T
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 ] o=
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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+ T F B %
PP ¢ 5045 L. (F/KEHEM: 2 LX) B@&E A XD = 090 m
PP ¢ 50 A (W) FIJE(C)
EHME(D2) 0.060 HE g (W) 0.55 + = 0.55 m
HRHIE (W) B (H1) AR iy
RH 8= 0.55 % ( 0.86 + 0.060 + 0.1)=  0.56 m
HHIE (W) R (HD) MR
R = 0.55 X ( 0.87 - 0.3 - 0.16)=  0.23 m
I (W) PRI (1) BT A
WO = 0.55 X  0.460 - 0.0028 = 0.25 m
RS
T A E = 0.56 m
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 e 0.55
2 |[PP¢20 27.0 0.55
3 [PP¢ 25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP ¢ 50 60.0 0.55
7 [HPE¢ 75 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 |DGX 6125 143.0 0.55 N
10 |HPE ¢ 150 180.0 0.55
11 |DGX ¢ 200 220.0 0.60
12 |DGX ¢ 250 271.6 0.60 =
13 |DGX ¢ 300 322.8 0.70 <
14 |DGX ¢ 350 374.0 0.70 < a
15 |DGX ¢ 400 425.6 1.05 _0f
16 |DNS ¢ 450 476.8 1.10
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+ T F B %
PP ¢ 304 L. (F/KEHEM: 2 LX) B @&EHE |8 X0eD= 065 m
PP ¢ 30 HE I (W) FMJE(C)
EHME(D2) 0.042 HE g (W) 0.55 + 0.55 m
HRHIE (W) B (H1) AR iy
RH 8= 0.55 % ( 0.61 + 0.042 + 0.1)= 041
HHIE (W) R (HD) MR
R = 0.55 X ( 0.62 - 0.3 - 0.16)=  0.09
PEHIIE (W) TOHERIE (h1) TR
g2y 0.55 X  0.442 - 0.0014 = 0.24 m
RS
R E R = 0.41 nf
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 4 EHME 42
1 |[PP$13 21.5 0.55 W:| 4 H 1 e 0.55
2 |[PP¢20 27.0 0.55
3 [PP¢ 25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |[PP¢50 60.0 0.55
7 [HPE¢ 75 90.0 0.55
8 [HPE ¢ 100 125.0 0.55
A, S -
9 [DGX¢125 143.0 0.55
10 |HPE ¢ 150 180.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 _ | o<
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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+ T F B %
PP ¢ 134G L (F/KEHEM: 2 LX) B&EHHE XD = 065 m
PP ¢ 13 HE I (W) FMJE(C)
EHME(D2) 0.022 HE g (W) 0.55 + = 0.55 m
HRHIE (W) B (H1) AR iy
RH 8= 0.55 % ( 0.61 + 0.022 + 0.1)=  0.40 m
HHIE (W) R (HD) MR
R = 0.55 X ( 0.62 - 0.3 - 0.16)=  0.09 m
PEHIIE (W) TOHERIE (h1) TR
WO = 0.55 X 0422 - 0.0004 = 0.23 m
RS
R E R = 0.40 nf
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y e B I D2:| 1 EHME 21.5
1 |[PP$13 21.5 0.55 W:| 1 H 1 e 0.55
2 |[PP¢20 27.0 0.55
3 [PP¢ 25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |[PP¢50 60.0 0.55
7 [HPE¢ 75 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 [DGX¢125 143.0 0.55 N
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 T
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 ] o=
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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+ T F B %
PP ¢ 5045 L. (F/KE B : 3 LX) F@&EA XD = 090 m
PP ¢ 50 A (W) FIJE(C)
EHME(D2) 0.060 HE g (W) 0.55 + = 0.55 m
HRHIE (W) B (H1) AR iy
RH 8= 0.55 % ( 0.86 + 0.060 + 0.1)=  0.56 m
HHIE (W) R (HD) MR
R = 0.55 X ( 0.87 - 0.3 - 0.16)=  0.23 m
I (W) PRI (1) BT A
WO = 0.55 X  0.460 - 0.0028 = 0.25 m
RS
T A E = 0.56 m
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 e 0.55
2 |[PP¢20 27.0 0.55
3 [PP¢ 25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP ¢ 50 60.0 0.55
7 [HPE¢ 75 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 |DGX 6125 143.0 0.55 N
10 |HPE ¢ 150 180.0 0.55
11 |DGX ¢ 200 220.0 0.60
12 |DGX ¢ 250 271.6 0.60 =
13 |DGX ¢ 300 322.8 0.70 <
14 |DGX ¢ 350 374.0 0.70 < a
15 |DGX ¢ 400 425.6 1.05 _0f
16 |DNS ¢ 450 476.8 1.10
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+ T F B %
PP ¢ 2545% 1. (F/KEHEM: 3 LX) F&EA XD = 065 m
PP ¢ 25 HE I (W) FMJE(C)
EHME(D2) 0.034 HE g (W) 0.55 + 0.55 m
HRHIE (W) B (H1) AR iy
RH 8= 0.55 % ( 0.61 + 0.034 + 0.1)= 041
HHIE (W) R (HD) MR
R = 0.55 X ( 0.62 - 0.3 - 0.16)=  0.09
PEHIIE (W) TOHERIE (h1) TR
g2y 0.55 X  0.434 - 0.0009 = 0.24 m
RS
R E R = 0.41 nf
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 3 EHME 34
1 |[PP$13 21.5 0.55 W:| 3 H 1 e 0.55
2 |[PP¢20 27.0 0.55
3 |[PP¢25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |[PP¢50 60.0 0.55
7 [HPE¢ 75 90.0 0.55
8 [HPE ¢ 100 125.0 0.55
A, S -
9 [DGX¢125 143.0 0.55
10 |HPE ¢ 150 180.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 _ | o<
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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+ T F B %
PP ¢ 134 L. (F/KEHEM: 3 LX) F&EHA XD = 065 m
PP ¢ 13 HE I (W) FMJE(C)
EHME(D2) 0.022 HE g (W) 0.55 + = 0.55 m
HRHIE (W) B (H1) AR iy
RH 8= 0.55 % ( 0.61 + 0.022 + 0.1)=  0.40 m
HHIE (W) R (HD) MR
R = 0.55 X ( 0.62 - 0.3 - 0.16)=  0.09 m
PEHIIE (W) TOHERIE (h1) TR
WO = 0.55 X 0422 - 0.0004 = 0.23 m
RS
R E R = 0.40 nf
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 1 EHME 21.5
1 |[PP$13 21.5 0.55 W:| 1 H 1 e 0.55
2 |[PP¢20 27.0 0.55
3 [PP¢25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |[PP¢50 60.0 0.55
7 [HPE¢ 75 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 [DGX¢125 143.0 0.55 N
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 T
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 ] o=
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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+ T F B %
PP ¢ 504G L. (F/KEHEM: 4 LX) B&EEHHE XD = 090 m
PP ¢ 50 A (W) FIJE(C)
EHME(D2) 0.060 HE g (W) 0.55 + = 0.55 m
HRHIE (W) B (H1) AR iy
RH 8= 0.55 % ( 0.86 + 0.060 + 0.1)=  0.56 m
HHIE (W) R (HD) MR
R = 0.55 X ( 0.87 - 0.3 - 0.16)=  0.23 m
I (W) PRI (1) BT A
WO = 0.55 X  0.460 - 0.0028 = 0.25 m
RS
T A E = 0.56 m
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 e 0.55
2 |[PP¢20 27.0 0.55
3 [PP¢ 25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP ¢ 50 60.0 0.55
7 [HPE¢ 75 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 |DGX 6125 143.0 0.55 N
10 |HPE ¢ 150 180.0 0.55
11 |DGX ¢ 200 220.0 0.60
12 |DGX ¢ 250 271.6 0.60 =
13 |DGX ¢ 300 322.8 0.70 <
14 |DGX ¢ 350 374.0 0.70 < a
15 |DGX ¢ 400 425.6 1.05 _0f
16 |DNS ¢ 450 476.8 1.10
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+ T F B %
PP ¢ 20455% L. (F/KEHEM: 4 LX) B&EEHHE | X0eD= 065 m
PP ¢ 20 HE I (W) FMJE(C)
EHME(D2) 0.027 HE g (W) 0.55 + 0.55 m
HRHIE (W) B (H1) AR iy
RH 8= 0.55 % ( 0.61 + 0.027 + 0.1)= 041
HHIE (W) R (HD) MR
R = 0.55 X ( 0.62 - 0.3 - 0.16)=  0.09
PEHIIE (W) TOHERIE (h1) TR
g2y 0.55 X  0.427 - 0.0006 = 0.23 m
RS
R E R = 0.41 nf
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 2 EHME 27
1 |[PP$13 21.5 0.55 W:| 2 H 1 e 0.55
2 [PP¢20 27.0 0.55
3 [PP¢ 25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |[PP¢50 60.0 0.55
7 [HPE¢ 75 90.0 0.55
8 [HPE ¢ 100 125.0 0.55
A, S -
9 [DGX¢125 143.0 0.55
10 |HPE ¢ 150 180.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 _ | o<
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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+ T F B %
PP ¢ 134G L (F/KEHEM: 4 LX) BEEHHE | X0eD= 065 m
PP ¢ 13 HE I (W) FMJE(C)
EHME(D2) 0.022 HE g (W) 0.55 + = 0.55 m
HRHIE (W) B (H1) AR iy
RH 8= 0.55 % ( 0.61 + 0.022 + 0.1)=  0.40 m
HHIE (W) R (HD) MR
R = 0.55 X ( 0.62 - 0.3 - 0.16)=  0.09 m
PEHIIE (W) TOHERIE (h1) TR
WO = 0.55 X 0422 - 0.0004 = 0.23 m
RS
R E R = 0.40 nf
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y e B I D2:| 1 EHME 21.5
1 |[PP$13 21.5 0.55 W:| 1 H 1 e 0.55
2 |[PP¢20 27.0 0.55
3 [PP¢ 25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |[PP¢50 60.0 0.55
7 [HPE¢ 75 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 [DGX¢125 143.0 0.55 N
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 T
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 ] o=
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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+ T F B %
PP ¢ 5045 L. (F/KE B : 5 LX) F&EHHE XD = 090 m
PP ¢ 50 A (W) FIJE(C)
EHME(D2) 0.060 HE g (W) 0.55 + = 0.55 m
15 (W) B (H1) AR i
RH 8= 0.55 % ( 0.86 + 0.060 + 0.1)=  0.56 m
1 5 (W) R (HD) MR
R = 0.55 X ( 0.87 - 0.3 - 0.16)=  0.23 m
I (W) PRI (1) BT A
WO = 0.55 X  0.460 - 0.0028 = 0.25 m
RS
T A E = 0.56 m
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 e 0.55
2 |[PP¢20 27.0 0.55
3 [PP¢ 25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP ¢ 50 60.0 0.55
7 [HPE¢ 75 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 |DGX 6125 143.0 0.55 N
10 |HPE ¢ 150 180.0 0.55
11 |DGX ¢ 200 220.0 0.60
12 |DGX ¢ 250 271.6 0.60 =
13 |DGX ¢ 300 322.8 0.70 <
14 |DGX ¢ 350 374.0 0.70 < a
15 |DGX ¢ 400 425.6 1.05 _0f
16 |DNS ¢ 450 476.8 1.10
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+ T F B %
PP ¢ 2545% 1. (F/KEHEM: 5 LX) B&EHHE XD = 065 m
PP ¢ 25 HE I (W) FMJE(C)
EHME(D2) 0.034 HE g (W) 0.55 + 0.55 m
HRHIE (W) B (H1) AR iy
RH 8= 0.55 % ( 0.61 + 0.034 + 0.1)= 041
HHIE (W) R (HD) MR
R = 0.55 X ( 0.62 - 0.3 - 0.16)=  0.09
PEHIIE (W) TOHERIE (h1) TR
g2y 0.55 X  0.434 - 0.0009 = 0.24 m
RS
R E R = 0.41 nf
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 3 EHME 34
1 |[PP$13 21.5 0.55 W:| 3 H 1 e 0.55
2 |[PP¢20 27.0 0.55
3 |[PP¢25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |[PP¢50 60.0 0.55
7 [HPE¢ 75 90.0 0.55
8 [HPE ¢ 100 125.0 0.55
A, S -
9 [DGX¢125 143.0 0.55
10 |HPE ¢ 150 180.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 _ | o<
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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+ T F B %
PP ¢ 134 L (F/KEHEM: 5 LX) B&EHHE XD = 065 m
PP ¢ 13 HE I (W) FMJE(C)
EHME(D2) 0.022 HE g (W) 0.55 + = 0.55 m
HRHIE (W) B (H1) AR iy
RH 8= 0.55 % ( 0.61 + 0.022 + 0.1)=  0.40 m
HHIE (W) R (HD) MR
R = 0.55 X ( 0.62 - 0.3 - 0.16)=  0.09 m
PEHIIE (W) TOHERIE (h1) TR
WO = 0.55 X 0422 - 0.0004 = 0.23 m
RS
R E R = 0.40 nf
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 1 EHME 21.5
1 |[PP$13 21.5 0.55 W:| 1 H 1 e 0.55
2 |[PP¢20 27.0 0.55
3 [PP¢25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |[PP¢50 60.0 0.55
7 [HPE¢ 75 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 [DGX¢125 143.0 0.55 N
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 T
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 ] o=
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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+ T F B %
PP ¢ 5045 L. (F/KEHEM: 7 LX) B@&E A XD = 090 m
PP ¢ 50 A (W) FIJE(C)
EHME(D2) 0.060 HE g (W) 0.55 + = 0.55 m
15 (W) B (H1) AR i
RH 8= 0.55 % ( 0.86 + 0.060 + 0.1)=  0.56 m
1 5 (W) R (HD) MR
R = 0.55 X ( 0.87 - 0.3 - 0.16)=  0.23 m
I (W) PRI (1) BT A
WO = 0.55 X  0.460 - 0.0028 = 0.25 m
RS
T A E = 0.56 m
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 6 EHME 60
1 |PP¢13 21.5 0.55 W:| 6 e 0.55
2 |[PP¢20 27.0 0.55
3 [PP¢ 25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP ¢ 50 60.0 0.55
7 [HPE¢ 75 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 |DGX 6125 143.0 0.55 N
10 |HPE ¢ 150 180.0 0.55
11 |DGX ¢ 200 220.0 0.60
12 |DGX ¢ 250 271.6 0.60 =
13 |DGX ¢ 300 322.8 0.70 <
14 |DGX ¢ 350 374.0 0.70 < a
15 |DGX ¢ 400 425.6 1.05 _0f
16 |DNS ¢ 450 476.8 1.10
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+ T F B %
PP ¢ 2545% 1. (F/KEHEM: 7 LX) B@&E A XD = 065 m
PP ¢ 25 HE I (W) FMJE(C)
EHME(D2) 0.034 HE g (W) 0.55 + 0.55 m
HRHIE (W) B (H1) AR iy
RH 8= 0.55 % ( 0.61 + 0.034 + 0.1)= 041
HHIE (W) R (HD) MR
R = 0.55 X ( 0.62 - 0.3 - 0.16)=  0.09
PEHIIE (W) TOHERIE (h1) TR
g2y 0.55 X  0.434 - 0.0009 = 0.24 m
RS
R E R = 0.41 nf
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 3 EHME 34
1 |[PP$13 21.5 0.55 W:| 3 H 1 e 0.55
2 |[PP¢20 27.0 0.55
3 |[PP¢25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |[PP¢50 60.0 0.55
7 [HPE¢ 75 90.0 0.55
8 [HPE ¢ 100 125.0 0.55
A, S -
9 [DGX¢125 143.0 0.55
10 |HPE ¢ 150 180.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 _ | o<
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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+ T F B %
PP ¢ 134 L (CF/KEHEM: 7T LX) B@&E A XD = 065 m
PP ¢ 13 HE I (W) FMJE(C)
EHME(D2) 0.022 HE g (W) 0.55 + = 0.55 m
HRHIE (W) B (H1) AR iy
RH 8= 0.55 % ( 0.61 + 0.022 + 0.1)=  0.40 m
HHIE (W) R (HD) MR
R = 0.55 X ( 0.62 - 0.3 - 0.16)=  0.09 m
PEHIIE (W) TOHERIE (h1) TR
WO = 0.55 X 0422 - 0.0004 = 0.23 m
RS
R E R = 0.40 nf
XA R (H1) (3, Sl 52 H| Bk S
D2: B4 — B K (nm)
X5y H O B I D2:| 1 EHME 21.5
1 |[PP$13 21.5 0.55 W:| 1 H 1 e 0.55
2 |[PP¢20 27.0 0.55
3 [PP¢25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |[PP¢50 60.0 0.55
7 [HPE¢ 75 90.0 0.55 o
8 [DGX ¢ 100 118.0 0.55
9 [DGX¢125 143.0 0.55 N
10 |DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 T
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 ] o=
14 |DGX ¢ 350 374.0 0.70 - N
15 [DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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+ T & & =
PP ¢ 5015 L (FAGE MM : 1 TX) it @ xaD= 0.30 m
PP ¢ 50 PR (W) RIRE(C)
EHME(D2) 0.060 HEHIHE (W) 0.55 + = 0.55
I (W) R (H1) AN e
THI &= 0.55 X ( 0.26 + 0.060 + )= 0.18
HRHIE (W) R (H1) AMBIE()
R = 0.55 x( 0.27 - - 0.16 )= 0.06
HRHIE (W) RO HEFRE (1) RS
O = X - = nf
PR
A = 0.18 m
B R (H) 13, Sl R BR v
D2 : & ME— B (nm)
X5y e EIME EHIE D2:| 6 BHME 60
1 [PP¢13 21.5 0.55 W:| 6 S e 0.55
2 |PP¢ 20 27.0 0.55
3 [PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
PP ¢ 40 . .
Lo leroso [ o0 | o5 |
7 [HPE ¢ 75 90.0 0.55
8 |DGX ¢ 100 118.0 0.55
RN .
9 |DGX ¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60
12 [DGX ¢ 250 271.6 0.60 =
13 |DGX ¢ 300 322.8 0.70 <
14 [DGX ¢ 350 374.0 0.70 = c
15 |DGX ¢ 400 425.6 1.05 01
16 |DNS ¢ 450 476.8 1.10
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==X
PP ¢ 2045 % L (FAGE M : 1 TX) it @ xaD= 0.30 m
PP ¢ 20 AR (W) RIRE(C)
EAME(D2) 0.042 S (W) 0.55 + = 0.55 m
HRHE (W) R (H1) IR oy
THI &= 0.55 X ( 0.26 + 0.042 + )= 0.17
HRHIE (W) R (H1) AMBIE()
R = 0.55 X( 027 - - 0.16)=  0.06
e (W) WHLFRIE (h1) e e
OB = X - = m
PR
FAE E = 0.17 m
B R (H) 13, Sl R BR v
D2 : &AM — 3% ()
X5y e EIME EHIE D2:| 4 BHME 42
1 [PP¢13 21.5 0.55 W:| 4 S e 0.55
2 |PP¢20 27.0 0.55
3 [PP¢25 34.0 0.55
4 |PP¢ 30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP¢50 60.0 0.55
7 [DGX¢ 75 93.0 0.55
8 |DGX ¢ 100 118.0 0.55
RN -
9 |DGX ¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 [DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 _ <
14 [DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10 R )




+ T

i

=N

B

==X
PP ¢ 13f5a% L (FAGE M : 1 TX) it @ xan= 0.30 m
PP ¢ 13 AR (W) R (C)
EAME(D2) 0.022 S (W) 0.55 + 0.55 m
I (W) R (H1) IR e
THI &= 0.55 X ( 0.26 + 0.022 + )= 0.15
HRHIE (W) R (H1) MR
R = 0.55 x( 0.27 - - 0.16 )= 0.06
e (W) WHLFRIE (h1) e e
R = X - = m
PR
FAE E = 0.15 m
B R (H) 13, Sl R BR v
D2 : &AM — 3% ()
X5y e EIME S HIhE D2:| 1 BHME 21.5
1 |PP$13 21.5 0.55 W:| 1 HEHIE 0.55
2 |PP¢ 20 27.0 0.55
3 |PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 |PP¢50 60.0 0.55
7 _|DGX¢ 75 93.0 0.55
8 |DGX ¢ 100 118.0 0.55
SRR,
9 |DGX¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 [DGX ¢ 200 220.0 0.60 =
12 [DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ | <
14 [DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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BR(H) =

0.30 m

+ T
PP ¢ 250 a% 1. (F/KaE Bl : 2 1K) £ wao
PP ¢ 25
EHME(D2) 0.034 AR (W)
bR (W) BR(HD)
Al &= 0.55 X ( 0.26 +
e (W) BR(HL)
AR = 0.55 x( 0.27 -
e (W) WHEEE (h1)
R = X -
PR
FAE E = 0.16 m

R HIE (W) KMRIE(C)

0.55

EHME

0.034 +

YRR (h)

+ = 0.55 m
Heiy
)= 0.16 m

i

- 0.16 )= 0.06 m

BT R

KA R (HD) 13, e S HI PR S

D2: A —E K (nm)

Xir| B B HELEULE
1 [PP$13 21.5 0.55
2 _|PP¢ 20 27.0 0.55
3 |PP¢ 25 34.0 0.55
4 |PP¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 |PP¢ 50 60.0 0.55
7 |HPE$ 75 90.0 0.55
8 [DGX ¢ 100 118.0 0.55
9 [DGX¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60
12 [DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70
14 [DGX ¢ 350 374.0 0.70
15 |DGX ¢ 400 425.6 1.05
16 [DNS ¢ 450 476.8 1.10
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i

=N

B

==X
PP ¢ 13fia% L (FAGE M : 2 TX) it @ xaD= 0.30 m
PP ¢ 13 AR (W) RIRE(C)
EAME(D2) 0.022 S (W) 0.55 + = 0.55 m
g (W) BR(HL) EHME By
THI &= 0.55 X ( 0.26 + 0.022 + )= 0.15
e (W) BR(HL) WMREE M) AR
R = 0.55 X( 027 - - 0.16)=  0.06
e (W) WHLFRIE (h1) e e
OB = X - = m
PR
FAE E = 0.15 m
B R (H) 13, Sl R BR v
D2 : &AM — 3% ()
X5y g EIME S HIhE D2:| 1 BHME 21.5
1 [PP¢13 21.5 0.55 W:| 1 S e 0.55
2 |PP¢ 20 27.0 0.55
3 |[PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP¢50 60.0 0.55
7 [DGX¢ 75 93.0 0.55
8 |DGX ¢ 100 118.0 0.55
RN -
9 |DGX ¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 [DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 _ <
14 [DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10 R )
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-

BR(H) =

0.30 m

+ T
PP ¢ 20{ia% 1. (F /K Bl : 3 1K) A w5
PP ¢ 20
EHME(D2) 0.027 AR (W)
bR (W) BR(HD)
Al &= 0.55 X ( 0.26 +
e (W) BR(HL)
AR = 0.55 x( 0.27 -
e (W) WHEEE (h1)
R = X -
PR
FAE E = 0.16 m

R HIE (W) KMRIE(C)

0.55

EHME

0.027 +

YRR (h)

+ = 0.55 m
Heiy
)= 0.16 m

i

- 0.16 )= 0.06 m

BT R

KA R (HD) 13, e S HI PR S

D2: A —E K (nm)

Xir| B B HELEULE
1 [PP$13 21.5 0.55
2 [PP¢20 27.0 0.55
3 _|PP¢ 25 34.0 0.55
4 |PP¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 |PP¢ 50 60.0 0.55
7 |HPE$ 75 90.0 0.55
8 [DGX ¢ 100 118.0 0.55
9 [DGX¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60
12 [DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70
14 [DGX ¢ 350 374.0 0.70
15 |DGX ¢ 400 425.6 1.05
16 [DNS ¢ 450 476.8 1.10
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D2:| 2 EZYNES 27

W:| 2 JEH R 0.55

RN

H1

h1

0.1




T+ T B =

PP ¢ 13{a% T (F/RERM: 3 TIX) FiEast®E  |% K@= 0.30 m

PP ¢ 13 PR (W) RIRE(C)
EHME(D2) 0.022 R (W) 0.55 + = 0.55
I (W) R (H1) AN e
PRHI = 0.55 X ( 0.26 + 0.022 + )= 0.15 m
IR (W) R (H1) MR
R = 0.55 X( 027 - - 0.16)=  0.06 m
e (W) WHLFRIE (h1) e e
R = X - = i
PR
FAE E = 0.15 m

KA R (HD) 13, e S HI PR S

D2: A —E K (nm)

X5y e EIME S HIhE D2:| 1 BHME 21.5
1 [PP¢13 21.5 0.55 W:| 1 S e 0.55
2 [PP¢ 20 27.0 0.55
3 [PP¢25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP¢50 60.0 0.55
7 [DGX¢ 75 93.0 0.55 o
8 |DGX ¢ 100 118.0 0.55
RN
9 |DGX ¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 _ <
14 [DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05
16 |DNS ¢ 450 476.8 1.10 R )
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-

BR(H) =

0.30 m

+ T
PP ¢ 20{ia% 1. (F/KaE Bl : 4 T 1K) i
PP ¢ 20
EHME(D2) 0.027 AR (W)
bR (W) BR(HD)
Al &= 0.55 X ( 0.26 +
e (W) BR(HL)
AR = 0.55 x( 0.27 -
e (W) WHEEE (h1)
R = X -
PR
FAE E = 0.16 m

R HIE (W) KMRIE(C)

0.55

EHME

0.027 +

YRR (h)

+ = 0.55 m
Heiy
)= 0.16 m

i

- 0.16 )= 0.06 m

BT R

KA R (HD) 13, e S HI PR S

D2: A —E K (nm)

Xir| B B HELEULE
1 [PP$13 21.5 0.55
2 [PP¢20 27.0 0.55
3 _|PP¢ 25 34.0 0.55
4 |PP¢ 30 42.0 0.55
5 |PP¢40 48.0 0.55
6 |PP¢ 50 60.0 0.55
7 |HPE$ 75 90.0 0.55
8 [DGX ¢ 100 118.0 0.55
9 [DGX¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60
12 [DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70
14 [DGX ¢ 350 374.0 0.70
15 |DGX ¢ 400 425.6 1.05
16 [DNS ¢ 450 476.8 1.10
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T+ T B =

PP ¢ 13{a% T (F/RERM 4 TIX) FriEst®E  |% K@= 0.30 m

PP ¢ 13 PR (W) RIRE(C)
EHME(D2) 0.022 R (W) 0.55 + = 0.55
I (W) R (H1) AN e
PRHI = 0.55 X ( 0.26 + 0.022 + )= 0.15 m
IR (W) R (H1) MR
R = 0.55 X( 027 - - 0.16)=  0.06 m
e (W) WHLFRIE (h1) e e
R = X - = i
PR
FAE E = 0.15 m

KA R (HD) 13, e S HI PR S

D2: A —E K (nm)

X5y e EIME S HIhE D2:| 1 BHME 21.5
1 [PP¢13 21.5 0.55 W:| 1 S e 0.55
2 [PP¢ 20 27.0 0.55
3 [PP¢25 34.0 0.55
4 |PP¢30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP¢50 60.0 0.55
7 [DGX¢ 75 93.0 0.55 o
8 |DGX ¢ 100 118.0 0.55
RN
9 |DGX ¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
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